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Question Number : 1 Question Id : 54062614790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

GLF, 10J, KRM, MUR, OXV
Options :

1. # 10J

2. % GLF

3. % MUR

4, ¥ KRM

Question Number : 1 Question Id : 54062614790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3hH fear T 8, ford § U ug Tad ¢ | 3T T fawed! & 9 39 7Tad ue &I gfu|

GLF, 10J, KRM, MUR, OXV
Options :

1. % 10J

2. % GLF

3. ¥ MUR

4. ¥ KRM

Question Number : 2 Question Id : 54062614791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

MORGS, NRWNB, OUBUK, PXGBT, QALID
Options :

1. % MORGS

2. % PXGBT

3. ¥ QALID

4. % NRWNB

Question Number : 2 Question Id : 54062614791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hd fea T 8, ford § U ug ad ¢ | 3T T fawed! & 9 39 e ug &I gfu|

MORGS, NRWNB, OUBUK, PXGBT, QALID
Options :

1. % MORGS

2. % PXGBT

3. % QALID



4. % NRWNB

Question Number : 3 Question Id : 54062614792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. % Car

2. # Truck

3. ¥ Tyre

4. ® Bus

Question Number : 3 Question Id : 54062614792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRed us # fau e fasbedl # 9 favw Teg o1 gHT|
Options :

1. ® ®R

2. % Ch

3. ¥ IR

4. % dY

Question Number : 4 Question Id : 54062614793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Clerk : Office :: Doctor : ?
Options :

1. # Nurse

2. # Needle

3. # Treatment



4. ¥ Hospital

Question Number : 4 Question Id : 54062614793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad wy § fu T fawedt & § defird 2regt &1 gl
Foh : SR - FIfbgs - 2

Options :
1%

2. % 3

3. % JUdNR
4. & AWdlcd

Question Number : 5 Question Id : 54062614794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

MORP : WXTQ :: ?
Options :

1. * RAMP : WSEV
2. % STVB:ICYW
3. % LROL : SUWP
4. % LDMC : ISIP

Question Number : 5 Question Id : 54062614794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ fau e faswedl B 9 Hefdd 3ieR g &1 gHu|

MORP : WXTQ :: ?
Options :



1. * RAMP : WSEV
2. ® STVB:ICYW
3. ¥ LROL : SUWP
4. % LDMC : ISIP

Question Number : 6 Question Id : 54062614795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Cars are white and blue’ is written as ‘@ # 9 at km’, ‘white red and’ is written as ‘Ip # km’, ‘cars great’ is written as
‘at pr’. What is the code for ‘great red’ in that code language?

Options :
1. ¥ prlp
2.%91p
3. % #at
4. % prkm

Question Number : 6 Question Id : 54062614795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fafy e 'J-ﬂtﬂﬁ, ‘Cars are white and blue’ &I ‘@#9atkm’ forar Tﬂ?ﬂ%, ‘white red and’ I ‘Ip # km’ fora Sran %, ‘cars great’ DI “at
pr’ %IET\_TH?IT%I sﬂaﬂg U H ‘great red’ Waﬂgw%?

Options :

1. ¥ prlp

2.%91p

3. % #at

4, # prkm

Question Number : 7 Question Id : 54062614796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six boys P, Q, R, S, T and U are sitting in a row facing towards north (not necessarily in the same order). Q is second to the right of S. P is fourth
to the left of U. U is not sitting on the extreme ends of the row. R is second to the right of Q.



Who is sitting second to the right of P?
Options :

1. %S

2. T

3.%Q

4. % U

Question Number : 7 Question Id : 54062614796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BEASH P, Q, R, S, T AU U Ueh Ufad H IR BI 3R T FRb 96 gU & (e -Ta! b1 AT HHA BN Q, S & il SR g ™M W R P,
U S il iR I WA R B Uﬁ%%eﬁﬂ@ﬁﬁwﬁéag&ng R, Q % G 3R T RIM W g

P % Y 3R gWR I R B 931 §3HT 72
Options :

1. %S

2.¢T

3.%Q

4. % U

Question Number : 8 Question Id : 54062614797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of six gates G1, G2, G3, G4, G5 and G6 is compared. No two gates have same price. Price of G3 is less than only two gates. Price of G1 is
less than G3 but more than G4. Price of G3 is less than G2. If the price of G6 is maximum, then which of the following statement(s) is/are correct
about the gate G5?

I. Price of G1 is less than G5
II. Price of G4 is more than G5

Options :
1. % Only I
2. % Only II



3. ® BothIand II
4. « Neither [ nor 11

Question Number : 8 Question Id : 54062614797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B8 AN G1, G2, G3, G4, G5 TUT G6 & T B ga-1 &1 Tt 81 Pl &Y RarSll &1 Hed JHH 8l & | G3 BT H Had gl grarsh 3 HH
gglgH@Gggg%WGﬁra{%%l G3 BTN G2 A HH g1 TS G6 BT T HTUHIH §, d G5 axamsl & aR # Fgfeied § 9
I/ B ?

LGl HT YA, G5 A HH T
II. G4 BT Y, G5 T 3P §
Options :

1. % PHadl
2. % Had Il
3. % [qUT el
4. I

Question Number : 9 Question Id : 54062614798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A + B means A is father of B. A — B means A is mother of B. A x B means A is brother of B. A + B means A is sister of B.If P+ QxR -S+T
is given, then which of the following statement(s) is/are correct?

I. T is son of R.
II. P is grandfather of S.

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. Only I
2.0nly II

3. Both I and II



4. Neither I nor 11

Question Number : 9 Question Id : 54062614798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A+BHTHIA BHIUAZIA - BHTHSTA, BB ATIGIAxBHIIFA, BHTHRZIA+BITAHSA, BHITETgIACP+Q xRS+
T fear mar g Y, FRufafea & § &F 98 HyF 981 87382

LT,RETTARI
IL P, S BT ST &

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Had 1
2. HAA I

3. 1T I A
4. MBIIATEI I

Question Number : 10 Question Id : 54062614799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some B are N.
II. No Cis N.

Conclusions:
I. Some C are B.
II. No N is B.

Options :



1. # Only conclusion I follows
2. % Only conclusion II follows
3. % Both conclusions I and II follows

4. # Neither conclusion follows

Question Number : 10 Question Id : 54062614799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fou T Uy H 8 U 3R IF 918 31 HUHI IR AURG & (56Y 3T T4 § | 3T T H2 & 981 aM, 918 S8 Qg J1d 9
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Options :

1. % $Had [T5HY [ 3RV HT &

2. % Had (SHY 11 SR Hal §
3. % GHI FSHY 1 TT 11 SR Hvd &
4. ¢ B1g Wi Fep 3rERur el BT @

Question Number : 11 Question Id : 54062614800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All P are G.
II. NoAisP.



Conclusions:

I. NoPis A.

II. All G are P.
III. All G are A.

Options :

1. #® Only conclusion II follows
2. % Neither conclusion follows
3. % Only conclusion I follows

4. % Both conclusions I and III follows

Question Number : 11 Question Id : 54062614800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (bt U T | 3T T U= &I 98! AM, 31e 374 AE= 1 a2t
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Options :

1. % had (Y 11 SR Fal §

2. % DY i P SR T e @
3. ¢ HAd fISHY [ SR Bl §

4. % Gl FTSHY [ AT [11 SFJAR0T Rl §

Question Number : 12 Question Id : 54062614801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



After interchanging the which two signs, the value of the given equation will be ‘8’?

36+37-42+14 %3
Options :

1. *® —and ~

2. % xand -

3. % +and +

4. % —and +

Question Number : 12 Question Id : 54062614801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fope1 gl FRIgT 1 3T H TR Sea- o UHTd, 38 77U IHieR01 &1 A7 <8° g

36 +37-42+14x3
Options :

1. % YT+

2. % xdYl -

3. % + YT+

4, ¢ —dYUl+

Question Number : 13 Question Id : 54062614802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A’ means ‘+’, ‘B’ means ‘-, ‘C’ means ‘x’ and ‘D’ means ‘+’, then which of the following equation is not correct?
Options :

1. # 36C7TD9A11B12 =27

2. % 14A11B62C17D31=-9

3. % 15C5A11B27D3 = 67

4. % 44D11A63C2B74 = 56

Question Number : 13 Question Id : 54062614802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg A B3+, B Bl 0, ¢ BT oo TUT D BT o - B, 1 FmfoRad & 9 o4 a1 wfievor el 51 82
Options :

1. # 36C7TD9A11B12 =27

2. % 14A11B62C17D31=-9

3. % 15C5A11B27D3 = 67

4. % 44D11A63C2B74 = 56

Question Number : 14 Question Id : 54062614803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many purse are not black?

Black

Phone

Purse

Options :
1. % 8
2. % 14
3. % 17
4. ¥ 6

Question Number : 14 Question Id : 54062614803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fohd o, Tal 8T 82

Options :
1. % 8
2. % 14
3.% 17
4. ¥ 6

Question Number : 15 Question Id : 54062614804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are not correct?



16 4 Grapes

Oran/;:: \« y

I. Number 18 represents those grapes which are not oranges.
II. Total number of tall are 31.

Options :

1. % Only I

2. % Only II

3. % Both Iand Il
4. ¢ Neither I nor 11

Question Number : 15 Question Id : 54062614804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U 37 3mE & YR W, Rgfeifad & ¥ o1 I/ HU9 I8t Tl 8/82
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Options :

1. % Bhad |

2. % Had Il

3. % [ QU1 gHl
4. I

Question Number : 16 Question Id : 54062614805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman walks 200 metres in west direction. He turns right and walks 140 metres. He again turns right and walks 380 metres. He finally turns right
and walks 140 metres. How far and in which direction is he now from the starting point?

Options :

1. # 160 metres, east
2. % 180 metres, west
3. ¥ 180 metres, east
4. % 160 metres, west

Question Number : 16 Question Id : 54062614805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A U3y f=m & 200 Hiex gafdr g1 98 SR 3R qSdT1 § 9T 140 Hex Iadr 8 | 98 U: Sl 3R ST § T 380 Hiex Iddl g | 98 Sidd:
it 3R ST § T 140 HIex TIeidl B | 98 R foig ¥ 3re fbat gft iR qur forg feam A 82

Options :

1. ® 160 Hex, g4

2. # 180 Hicx, Ui

3. ¢ 180 Hier, gd

4. % 160 Hiex, UlgH

Question Number : 17 Question Id : 54062614806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sohan is facing towards north. He rotates by 145 degrees in clockwise direction. He again rotates by 290 degrees in anticlockwise direction. He
again rotates by 345 degrees in anticlockwise direction. He finally rotates by 400 degrees in clockwise direction. In which direction is he facing
now?

Options :
1. # East
2. # North-west
3. # North-east
4. ¥ West

Question Number : 17 Question Id : 54062614806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e IR B1 3R W QT ¢ | I8 Sferumad fo=m o 145 fH0 S gqrar 81 98 arAmad fa=m # 290 f&3t @ q: gra1 81 98 arHrad faxm 345
&t ¥ 47: a1 71 9% Sida: Sfamad fa=m 7 400 &3 & qHAT 71 ofF SHeT 7w forw faxm & g2

Options :

1. % gd

2. % ITR-UEH

3. % IW-Ud

4. ¢ Uigm



Question Number : 18 Question Id : 54062614807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

& b b
oo ||we||BE 9
7 77 7
Options :
X
| T8
4%
5 % 77
y
3 777
)
4 % LT

Question Number : 18 Question Id : 54062614807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ fau T fomedl O 9 Uy g (2) & RIM R 3 arelt 3Tdhid &1 gl



o o-||-0 o ?
7 77 7
Options :
R
L% 777
g
) % 77
Y
3 o 777
Y
i

Question Number : 19 Question Id : 54062614808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

7
7
g
/

e LA

Options :



A ]

;
4
7
A

P TS
O P

Py DUETT S
AT ]

Question Number : 19 Question Id : 54062614808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T U DI AB T IR W MY, <1 &1 715 STR SHIaal # B AT 3Mpid U SHfa &1 gt ufafda grme

A

Do [T Sy
P LA

Options :




O P

Py DUETT S
AT ]

Question Number : 20 Question Id : 54062614809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

Question figure:

= ] i
L T R —

Options :

all
i

o e




£e g
8 8

orasTe
i

i
o1

4.9

Question Number : 20 Question Id : 54062614809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Group Id : 540626505
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Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness

Section Id : 540626679
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626815
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062614810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bharatnatyam belongs to the state of
Options :

1. % Tamil Nadu

2. % Kerala

3. ® Manipur

4. % Assam

Question Number : 21 Question Id : 54062614810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRaTeIH ] 8 Feifd g
Options :

1. ¢ dfiars

o

2. % P
3. % OoR

4. % 34y

Question Number : 22 Question Id : 54062614811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of instrument — type is correct?



I. Veena — Tata Vadya
II. Flute — Sushira Vadya

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 22 Question Id : 54062614811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - TR &1 gfiad # ¥ &9 1 g I8! 82

1. 910N — dq dTg,

1. §igS - iR arg
Options :

1. % $Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 23 Question Id : 54062614812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT an Indirect tax?

I. GST
II. Custom Duties
II1. Corporation tax

Options :
1. % Only III
2. % Tand II



3. % [T and III
4. % I,1IIand III

Question Number : 23 Question Id : 54062614812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 9 & 91 3iuQe B T8l 82

LS. T, <
1. T Yeh
. A e

Options :

1. ¢ ohdd I
2. % 1dYUTII

3. % [ dYTIII
4. % 1, 11 dYUTIII

Question Number : 24 Question Id : 54062614813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s the ratio of foreign to domestic prices, measured in the same currency.
Options :

1. ¥ Real Exchange Rate

2. % Nominal Exchange Rate

3. # Effective Exchange Rate

4. #% Marginal Exchange Rate

Question Number : 24 Question Id : 54062614813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Y o1 [9e=ht ga1 S A T, Yod &1 3UTd g

Options :




1. ¢ aRdlds fafFma &R
2. % quE o &R
3. % gyal fafag @R
4. % THid fafag )

Question Number : 25 Question Id : 54062614814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which gas is produced during photosynthesis?
Options :

1. #* Nitrogen

2. % Oxygen

3. ¥ Helium

4. % Ozone

Question Number : 25 Question Id : 54062614814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT GREN0T & B 1 79 S gt 82
Options :

1. % e

2. ¢ i

3. % fgeligH

4. % 3l

Question Number : 26 Question Id : 54062614815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Plant tissues are of main types.
Options :

1. % 1



2.¥2
3. %3
4. % 4

Question Number : 26 Question Id : 54062614815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey Sdb Had: UHR & Bl o
Options :

1. %1

2.¥ 2

3.%3

4. % 4

Question Number : 27 Question Id : 54062614816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of reproduction is correct?

I. Asexual reproduction — Budding
II. Sexual reproduction — Fragmentation

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 27 Question Id : 54062614816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o4 &1 fgfafed # 9 & 91 3w 98t 82



1. 3 S - g
1. A7 59 - e
Options :

1.« Had 1

2. % HAdII

3. % [ QYT

4. % qEIIATR I

Question Number : 28 Question Id : 54062614817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of igneous rock?

L. Intrusive
II. Extrusive

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 28 Question Id : 54062614817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o1 I Th UBR &7 31 U 82

1. 3
11. Sfg el

Options :

1. % Bad 1
2. % BHad Il
R AGUIDIEGI



4. % ATEIIATSII

Question Number : 29 Question Id : 54062614818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Stratosphere — second layer
II. Thermosphere — third layer

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 29 Question Id : 54062614818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 &1 91 gm I8l 82

1. 9HATY HUSH — ORI URd
11. STRI aRgHE e — Rl URd
Options :

1. Had I

2. % Had Il

3. % [ QYT gHl

4. % GBI

Question Number : 30 Question Id : 54062614819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of peak-country is correct?



I. Makalu — India
II. Dhaulagiri — Nepal

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 30 Question Id : 54062614819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RrRAw &1 i § § 5 T T 98 82

I. AT — YR
1. SRR — Ut

Options :

1. % Had 1

2. ¢ HAd Il

3. % [ UGl
4. % qEIIATE I

Question Number : 31 Question Id : 54062614820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which language the word India was originated?
Options :

1. # Persian

2. ¥ Sanskrit

3. % French

4. % Greek

Question Number : 31 Question Id : 54062614820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fopy ToT O & Tsg 1 I g3 o
Options :

1. % gt

2. ¢ &hd

3. % Thd

4. % Y

Question Number : 32 Question Id : 54062614821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who headed the Oudh Kisan Sabha?

I. Jawaharlal Nehru
II. Baba Ramchandra

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 32 Question Id : 54062614821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{qY fHaT THT & GRITT B &2

IRSCIRGIRERES
IACICIRGEF]
Options :

1. 8 Hadl
2. % BHad Il




3. 1dUT 11 Sl
4. % qTEIIATRIII

Question Number : 33 Question Id : 54062614822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prithviraj Chauhan ruled in Delhi during .
Options :

1.9 1175-1192

2. % 1206-1210

3. % 1210-1236

4, % 1236-1240

Question Number : 33 Question Id : 54062614822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QRIS g A faeedt | & SR AR faa |
Options :

1. % 1175-1192

2. % 1206-1210

3. % 1210-1236

4. % 1236-1240

Question Number : 34 Question Id : 54062614823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has written the book Inglorious Empire?
Options :

1. # Arun Shourie

2. % Shashi Tharoor

3. % Karan Singh

4. # Kiran Bedi



Question Number : 34 Question Id : 54062614823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STENRTY SRR forare g fordt g2
Options :

1. % 3BUTRRY

2. ¢ TR U

3. % B g

4. % fHRoT ]

Question Number : 35 Question Id : 54062614824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has won the Padam Vibhushan 20217
Options :

1. # P. Anitha

2. # Bhuri Bai

3. ¥ B.B. Lal

4. # Tarun Gogoi

Question Number : 35 Question Id : 54062614824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 faywur 2021 fore St
Options :

1. % o, 3Fftar
2. % Y TR

3. ¢ SL& ad

4, % THUTTNNR



Question Number : 36 Question Id : 54062614825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ayushman Bharat Diwas is celebrated on which day?
Options :

1. % April 9

2. % Arpil 21

3. ¥ March 26

4. % April 30

Question Number : 36 Question Id : 54062614825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST YR ey ford e w=mam &irer &2
Options :

1. % 39

2. % 3 21

3. % O 26

4.+ 31U 30

Question Number : 37 Question Id : 54062614826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of article — contents of Indian constitution is correct?

I. Article 18 — Abolition of titles
II. Article 53 — Executive power of union

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II



Question Number : 37 Question Id : 54062614826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR AT BT TG — STag BT DI 1 T gl 67

L. TG 18 — T & 3fd

1. 3¢ 53 — Y P HRAUTICIDT Al
Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 UGl

4. % GBI

Question Number : 38 Question Id : 54062614827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to the special leave to appeal by the supreme court?
Options :

1. % 168

2. % 152

3.9 136

4. % 144

Question Number : 38 Question Id : 54062614827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRATT HAUTH BT B AT 3ffwde SHUd o [ Sead e &1 faRIY Soferd 4 dafid g2

Options :
1. ® 168
2. % 152
3.¥ 136




4. % 144

Question Number : 39 Question Id : 54062614828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many total medals did India won in 2018 Asian Games?
Options :

1. ¥ 69

2.% 73

3. % 65

4. % 61

Question Number : 39 Question Id : 54062614828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 7 2018 TRATE Wl & ot fobe= U Sitd A2
Options :

1. ¥ 69

2.% 73

3. % 65

4. % o6l

Question Number : 40 Question Id : 54062614829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sportsperson — sports is correct?

I. Mohammed Salah — Football
II. Dhanraj Pillay — Hockey

Options :
1. % Only I
2. % Only II



3.4 BothIand II
4. % Neither I nor 11

Question Number : 40 Question Id : 54062614829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEemet - Td o1 Fafifed & S o a1 gm I8t 32

1. HigWE qd18 — Pedld
11. Y7RTS! Ut — glap!

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Arithmetic Ability

Group Number : 3

Group Id : 540626506
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability
Section Id : 540626680
Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626816
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062614830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Highest Common Factor of 81, 243 and 54?
Options :

1. ¥ 27

2. % 54

3. % 36

4.%9

Question Number : 41 Question Id : 54062614830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
81, 243 TUT 54 HT HeTH THIGAD o1 62
Options :

1. ¥ 27

2. % 54

3. % 36

4. % 9

Question Number : 42 Question Id : 54062614831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

18 +45x25+12+36x6 5
20 5% 2+100+25x20

What is the value o

Options :
1143

1% 88

1145

w44

1145

1140

Question Number : 42 Question Id : 54062614831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
18 +45x25+12+36 %6 71 ART F4T &2
20+5x2+100+25x20
Options :
1143
Lx 88

1145
) w44



1145

;v 88
1140
4% 11

Question Number : 43 Question Id : 54062614832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value nf#-} '\E+'\E?
R

Options :

07 — 75
2

907 — 75

2. 4

07 +75

3. % 2

07 +745

4. % 4

Question Number : 43 Question Id : 54062614832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

4 +\E+J§a:rm?rwﬁ?

ST 45 4

Options :

0\7 -7+
2

97 75
4
9ﬁ+?«j’§
2

9+f7 +745

4. % 4

Question Number : 44 Question Id : 54062614833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the positive square root of 61+28V3?
Options :

1. ¥ 74273

2. % 84243

3. % 11+3

4. % 13+4V3



Question Number : 44 Question Id : 54062614833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
61+28v3 T YT av A T 82
Options :

1. ¢ 74273

2. % 84243

3. % 11+3

4. % 13+4V3

Question Number : 45 Question Id : 54062614834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true?

I. Highest Common Factor of two consecutive even numbers is always 2.
II. Least Common Multiple of two consecutive even numbers is always equal to the product of the two numbers.

Options :

1. ¥ Only I

2. % Only I

3. % BothlIandII
4. % Neither I nor II

Question Number : 45 Question Id : 54062614834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Poffad & 9 S F /A $UF 9e 887

1. S HUNTA TH T &1 7 JHIadd Jid I9 giar g |
1. & SHHNT H IRSAT3M &1 TYTH THIT GHRN GIHI TS & UM% & SRR gidl g
Options :

1. ¥ Hadl
2. % Had Il




3. % 1dUT I Sl
4. % qTEIIATRIII

Question Number : 46 Question Id : 54062614835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average of first 34 natural numbers?
Options :

1. ® 16.5

2. %10

3.¥175

4. % 18

Question Number : 46 Question Id : 54062614835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TETH 34 TTgpTaie TReATail T 3N T 82
Options :

1. ® 16.5

2. %10

3.9175

4. % 18

Question Number : 47 Question Id : 54062614836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 25 percent more than B. B is how much percent less than A?
Options :

1. % 25

2.9¥20

3.% 15

4. % 175



Question Number : 47 Question Id : 54062614836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B ¥ 25 ORI S 81 B, A ¥ fova Ufa=Id & 82
Options :

1. % 25

2.9 20

3. % 15

4. % 17.5

Question Number : 48 Question Id : 54062614837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. 130 percent of 400 = 520
I1. 95 percent of 540 = 51.3

Options :

1. ¥ Only I

2. % Only II

3. %* BothIandII
4. % Neither I nor II

Question Number : 48 Question Id : 54062614837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PraffEd 3 3 19 918 HUF 98 8780

1. 400 T 130 UTIRId = 520
I1. 540 T 95 UfA=Id = 51.3

Options :

1. ¥ $Had |



2. % BHad I
3. % [qUTII Sl
4. % BB

Question Number : 49 Question Id : 54062614838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sells an article for Rs. 4200 at 40 percent loss. B sells an article for Rs. 5400 for 20 percent profit. What is the ratio of cost prices of A and B?
Options :

1.¥14:9

2.% 7:3

3.% 11:5

4. % 9:5

Question Number : 49 Question Id : 54062614838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A T T Bl 4200 ¥UT BT 40 U= &1 8T R 99d1 g | B T I BT 5400 TYY BT 20 UAId & AH W IId1 8| A TUT B & 6 Jedi
T 3UTd T 32

Options :

1.¥14:9

2.% 7:3

3.% 11:5

4. % 9:5

Question Number : 50 Question Id : 54062614839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of price of table and chair are 6 : 5. The price of table is Rs. 1220 more than price of chair. What is the price of chair?
Options :

1. ¥ Rs. 6100

2. ® Rs. 7320



3. # Rs. 2440
4. % Rs. 1220

Question Number : 50 Question Id : 54062614839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TUT Pl b Hed BT U 6 : 55 | T DT Hed ST b Hed H 1220 3T 3D ¢ | PT bl 7o T 82
Options :

1. ¢ 6100 30

2. % 7320 %0

3. % 2440 3UY

4. % 1220300

Question Number : 51 Question Id : 54062614840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three partners A, B and C invested a total of Rs. 39000 in a business. At the end of the year, A got Rs. 1440, B got Rs. 1560 and C got Rs. 1680
as the share of profit. How much amount did B invest in the business?

Options :

1. % Rs. 10000
2. % Rs. 13000
3. #® Rs. 12000
4. % Rs. 14000

Question Number : 51 Question Id : 54062614840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M AIRIGRI A A, B YT C U a9 H $dl 39000 ¥ a1 {0 | a9 o 3fd T A B 1440 3T, B BT 1560 SUY TUT C B 1680 B, ATH
& TR & TA DU GId ¢ | B A Hard H farat 111 7 o= fopam

Options :
1. ® 10000 3T
2. ¢ 13000 ST



3. % 12000 ST
4. % 14000 3UY

Question Number : 52 Question Id : 54062614841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple Interest received by a person in 20 years on a principal of Rs. 2000 is 50 percent of the principal. What is the annual rate of interest?
Options :

1. % 25 percent

2. % 10 percent

3. % 5 Percent

4. % 2.5 Percent

Question Number : 52 Question Id : 54062614841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh ogferd GIRT20 a1 § 2000 $UY & AU UR UG fobdT T WIYRUT SATST HeTeH b1 50 UT=Td & | TSl bl aTfiies a3 a1 82
Options :

1. % 25 gfa=rd

2. % 10 gfa=rd

3. % syfa=d

4. ¥ 2.5 gfa=rd

Question Number : 53 Question Id : 54062614842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person goes to his office by bus at the speed of 54 km/hr and reaches 18 minutes earlier. If he goes at the speed 36 km/hr, then he reaches 18
minutes late. What will be the speed of the bus to reach on the usual time?

Options :
1. ¥ 216/5 km/hr
2. % 192/5 km/hr



3. # 289/5 km/hr
4, % 512/5 km/hr

Question Number : 53 Question Id : 54062614842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U for] 31U Hraierd a9 gIRT 54 fob Hi/der 1 it I STl & 7T 18 fiFIe ugdl ugd il ¢ | 3G 98 36 fob Hi/der 1 a1fa 4 o &, O 18
e ®1 33 T ugddl § | THRI 9 TR Ug o & folt a9 &1 T1fd 31 g

Options :

1. ¢ 216/5 foo At Aer
2. % 192/5 fop At der
3. % 289/5 T Hi /der
4. % 512/5 fop 1t /eieT

Question Number : 54 Question Id : 54062614843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

L. If the speed is increased by 20 percent, then the time to cover the same distance decreases by 25 percent.
I1. If the speed of a car is 45 km/hr, then it will take 16 seconds to cover 200 metres.

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 54 Question Id : 54062614843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefEd & ¥ o9 91 By 981 82



1. Tfe 1A BT 20 U1 W ST AT 3, 0 THM GR1 DI T DR & [rd fordm 71 99 25 U=d o &4 g1 Sl ¢ |
11 af¢ T St Y 7fd 45 5 1t /e ], a1 a8 200 Hiex q@ FA H 16 AHUs Al

Options :

1. % Had I

2. ¥ Had Il

3. % [ QYT
4. % qEIIATR I

Question Number : 55 Question Id : 54062614844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a work alone in 24 days. B can do the same work alone in 36 days. In how many days can both of them do 3/8 of the work?
Options :

1. ¥ 27/5

2. % 25/4

3. % 29/6

4. % 31/7

Question Number : 55 Question Id : 54062614844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A foft Bl Y 3 24 e A R IHd1 1 B I B DI 3ihal 36 fo=l & R Tobar g1 3 a1 w1l o1 3/8 U fpam fa=i & a T 82
Options :

1. ¥ 27/5

2. % 25/4

3. % 29/6

4. % 31/7

Question Number : 56 Question Id : 54062614845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If total surface area of a cube is 1350 cm2, then what will be the side of cube?
Options :

1. % 21 cm

2. % 12cm

3. % 18 cm

4. ¥ 15cm

Question Number : 56 Question Id : 54062614845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe U 99 &1 $dl YN IF 8% 1350 V.42 B, a8 B Yol 1 gt
Options :

1. % 21 9.

2. % 129H.

3. % |3 AL

4. ¢ 1599

Question Number : 57 Question Id : 54062614846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Height of a cuboid is 4 cm less than its breadth and length is 6 cm more than its breadth. If length of cuboid is 20 cm, then what will be the
volume of cuboid?

Options :

1. ® 2200 cm?
2. ¥ 2800 cm?
3. % 3200 cm?
4. % 5040 cm’

Question Number : 57 Question Id : 54062614846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS GTH B $HaTs U] arels I 4 .1, HH g dUT s S9! Arels 9 6 .11, 3% g1 afe oary &1 aas 20 .. 8, A g1 &
AT T B2

Options :

1. % 2200 9.HI3
2. ¥ 2800 9.HI3
3. % 3200 9.H13
4. % 5040 9.HI3

Question Number : 58 Question Id : 54062614847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of books of two types: B1 and B2 in 4 almirahs.

adbm Number of books
Bl B2
A 30 112
B 72 78
2 64 42
D 32 04

G = Sum of number of B2 books in B and B1 books in D.
H = Average number of B2 books.

What is the value of G/H?
Options :
1. % 1.45
2. % 1.67
3. % 1.32
4.9 135

Question Number : 58 Question Id : 54062614847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T <t eft arferenT 4 Al F 1 IR @) Gadl: B1 TUT B2 W e HI GRI |

sroardy | TETHT Y ;T
Bl B

2
A 80 112
B 72 78
B 64 42
D 32 94

G =B ¥ B2 Q¥ &1 GBATTUT D | B1 YKo ! TAT BT A1 |
H = B2 Tx| &1 I S|

G/H &1 0 1 57
Options :
1. * 145
2. % 1.67
3. % 132
4.9 135

Question Number : 59 Question Id : 54062614848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the quantity of milk sold by 7 shopkeeper.



120 110

Which of the following statement(s) is/are correct?

I. Sum of the maximum and minimum milk sold by any shopkeeper is 360.
I1. Ratio of total quantity of milk sold by R5 and R7 to the quantity of milk sold by R2 is 8 : 9.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 59 Question Id : 54062614848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fear mar ¥ s 7 gHTHER! RT od U g &1 AT & gRIfdT g



120 110

fofefad & ¥ o I/ Y9 I8t 8/8?

1. Tt ot gHMER GRT o 7T g BT Sifdman quT 6 AdH W Bt AT 360 & |
I R5 4T R7 §RT &9 T g8 P ol HIAT BT R2 GRT 9 T Y B AT Y 8 - 9 HT 3UM & |
Options :

1. % FHadl
2. % HAd II
3. % [QUT I gl
4. I

Question Number : 60 Question Id : 54062614849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of cars and bikes in 5 parking areas.



300

P1 P2 P3 P4 Ps
——MNo. of Cars —=—No. of Bikes

Which of the following statement(s) is/are not correct?

I. Average number of cars per parking area are 222.5.

II. Total number of bikes in P1 and P4 are 195.83 percent of total number of cars in P2 and P5.
Options :

1. % Only I

2. % Only II

3. % Both I andII

4. ¥ Neither I nor II

Question Number : 60 Question Id : 54062614849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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P1 P2 P3 P4 P5
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1. O Ui & BRI BT e TR 222.5 B |
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Options :

1. ¥ Had I

2. % had Il

3. % [QUT I gl
4. % 1B

General English
Group Number : 4
Group Id : 540626507
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 540626681

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 540626817

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062614850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

No wonder she is (1)/ beautiful but can (2)/ be irritating sometimes. (3)/ No error (4)
Options :

1. * No wonder she is

2. ¥ beautiful but can

3. % be irritating sometimes.

4. % No error

Question Number : 61 Question Id : 54062614850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

No wonder she is (1)/ beautiful but can (2)/ be irritating sometimes. (3)/ No error (4)
Options :

1. #® No wonder she is

2. ¥ beautiful but can

3. # be irritating sometimes.

4. % No error

Question Number : 62 Question Id : 54062614851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Science has made it clear the adverse impacts that climate (1)/change and continued ecosystem (2)/ degradation poses for the physical world. (3)/
No error (4)

Options :

1. # Science has made it clear the adverse impacts that climate
2. # change and continued ecosystem

3. ¥ degradation poses for the physical world.

4. % No error

Question Number : 62 Question Id : 54062614851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Science has made it clear the adverse impacts that climate (1)/change and continued ecosystem (2)/ degradation poses for the physical world. (3)/
No error (4)

Options :
1. #® Science has made it clear the adverse impacts that climate
2. % change and continued ecosystem

3. % degradation poses for the physical world.



4. % No error

Question Number : 63 Question Id : 54062614852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

There's little evidence available of to what exactly makes this more threatening.
Options :

1. ®* onto

2. % into

3. ¥ asto

4. % No Improvement

Question Number : 63 Question Id : 54062614852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

There's little evidence available of to what exactly makes this more threatening.
Options :

1. # onto

2. * into

3.% asto

4. # No Improvement

Question Number : 64 Question Id : 54062614853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.



It can be considered a branch of either philosophy and education.

Options :
1. ¥ both
2. # neither
3. # none

4. ¥ No Improvement

Question Number : 64 Question Id : 54062614853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

It can be considered a branch of either philosophy and education.
Options :

1. ¥ both

2. # neither

3. * none

4. % No Improvement

Question Number : 65 Question Id : 54062614854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

When he reached the construction everything was messed up.
Options :

1. % position

2. ® cite

3. % sight

4. ¢ site



Question Number : 65 Question Id : 54062614854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

When he reached the construction everything was messed up.
Options :

1. #* position

2. % cite

3. % sight

4. ¥ site

Question Number : 66 Question Id : 54062614855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

One must respect elders without any complaints.

Options :
1. * ones
2. ¥ one’s
3. * his

4. * their

Question Number : 66 Question Id : 54062614855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

One must respect elders without any complaints.

Options :
1. # ones

2. % one’s



3. * his
4. * their

Question Number : 67 Question Id : 54062614856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The prolonged storage of coffee

P: where moulds and parasites may develop and cause damage

Q: especially in the warm and humid coastal regions

R: for that reason, coffee from those areas is exported as quickly as possible
S: in the producing countries presents problems

Options :

1. # RPQS
2. % QPRS
3. % RQPS
4. ¥ SQPR

Question Number : 67 Question Id : 54062614856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The prolonged storage of coffee

P: where moulds and parasites may develop and cause damage

Q: especially in the warm and humid coastal regions

R: for that reason, coffee from those areas is exported as quickly as possible
S: in the producing countries presents problems

Options :

1. ¥ RPQS
2. % QPRS
3. % RQPS
4. ¥ SQPR



Question Number : 68 Question Id : 54062614857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: China, after the 1949 revolution, gave official

Q: the classics and opera-based histories, as well as uplifting

R: support to lianhuanhua (literally, “connected images”) to retell

S: revolutionary stories, in a highly refined, classically derived style

Options :

1. # RQPS
2. ¥ PRQS
3. ® QRPS
4. % SRPQ

Question Number : 68 Question Id : 54062614857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: China, after the 1949 revolution, gave official

Q: the classics and opera-based histories, as well as uplifting

R: support to lianhuanhua (literally, “connected images”) to retell

S: revolutionary stories, in a highly refined, classically derived style

Options :

1. # RQPS
2. ¥ PRQS
3. # QRPS
4. % SRPQ

Question Number : 69 Question Id : 54062614858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that means the same as the given word.

Advocate
Options :

1. # Deny

2. ¥ Support
3. % Intimidate
4. ® Spur

Question Number : 69 Question Id : 54062614858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Advocate
Options :

1. # Deny

2. % Support
3. # Intimidate
4. % Spur

Question Number : 70 Question Id : 54062614859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Aromatic
Options :

1. ¥ Putrid

2. ® Qdiferous
3. # Obloquy
4. ® Savoury



Question Number : 70 Question Id : 54062614859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Aromatic
Options :

1. ¥ Putrid

2. # Qdiferous
3. # Obloquy
4. # Savoury

Question Number : 71 Question Id : 54062614860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Substitutionn

2. ¥ Substitution

3. % Subbstitution

4. % Substtitution

Question Number : 71 Question Id : 54062614860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Substitutionn

2. ¥ Substitution

3. % Subbstitution

4. % Substtitution



Question Number : 72 Question Id : 54062614861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. # Respectively

2. # Unilateral

3. ¥ Luminossity

4. % Fellowship

Question Number : 72 Question Id : 54062614861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. # Respectively

2. # Unilateral

3. % Luminossity

4. # Fellowship

Question Number : 73 Question Id : 54062614862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To rain cats and dogs

Options :

1. # A time of plenty

2. # To retract one’s statement
3. # To fill one with terror

4. % To rain very heavily



Question Number : 73 Question Id : 54062614862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To rain cats and dogs

Options :

1. % A time of plenty

2. # To retract one’s statement
3. % To fill one with terror

4. ¥ To rain very heavily

Question Number : 74 Question Id : 54062614863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A drop in the ocean

Options :

1. # To talk uselessly and be tired
2. % A sudden misfortune

3. % To be in love with

4. ¥ A quantity too small to make an impact

Question Number : 74 Question Id : 54062614863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A drop in the ocean
Options :
1. # To talk uselessly and be tired

2. % A sudden misfortune



3. #* To be in love with

4. ¥ A quantity too small to make an impact

Question Number : 75 Question Id : 54062614864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A thin and homeless child
Options :

1. # Truant

2. % Aplomb

3. # Torrent

4. ¥ Waif

Question Number : 75 Question Id : 54062614864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A thin and homeless child

Options :

1. # Truant

2. % Aplomb

3. # Torrent

4. ¥ Waif

Sub-Section Number : 2
Sub-Section Id : 540626818
Question Shuffling Allowed : Yes

Question Id : 54062614865 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)



Read the following passage carefully and answer the questions.

Fortunately, the WHO reports that some countries have continued to have major declines in TB cases; in Cambodia alone, the TB prevalence fell
by about 50 percent. Due to diagnostic and treatment efforts, about 37 million lives were saved between 2000 and 2013. However, maintaining
this success has mostly been complicated by HIV, MDR, XDR, the inefficacy of the BCG vaccine, false-positive screening tests, non-compliance
to treatment regimens, the complexity of MTB, and the stall in developing novel therapeutics.

In some countries, like India, China, and Russia, TB rates are only dropping slowly and still remain high. To address this concern, an additional
treatment regimen is undergone by patients called directly observed therapy short-term (DOTS), which closely monitors treatment adherence and
completion, with the goal of efficiency and cost-effectiveness. With the emergence of MDR-TB, DOTS-plus was initiated as a more rigorous
treatment strategy.

The WHO drafted a Stop TB Strategy, which outlines six aims to be implemented by all countries to reduce TB on both local and national scales,
with the overall goal of enhancing TB treatment, health care experiences, and research. It is the world's hope that at least some of these aims will
be achieved in the near future.

In this race to combat a disease that knows no boundaries, it is necessary to have a conceptual and clear understanding of TB overall. This can
only be enforced if collaborative efforts among research, public health officials, primary care professionals, and the general public continue to
push the boundaries of our current knowledge, mitigating the global burden of TB.

Sub questions

Question Number : 76 Question Id : 54062614866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?

Options :

1. # Stop TB strategy

2. % Control of TB: Achievements, DOTS, Stop TB Strategy
3. % TB at its worst

4. % How to cure TB?

Question Number : 77 Question Id : 54062614867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has never been a hindrance in maintaining the success of controlling TB?
Options :

1. % HIV

2. % MDR

3. ¥ DOTS



4. # XDR

Question Number : 78 Question Id : 54062614868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true about DOTS treatment?
Options :

1. # It is cost effective.

2. ® It’s an efficient treatment.

3. % It is more rigorous than DOTS-plus.

4. # Tt thoroughly monitors the completion of treatment.

Question Number : 79 Question Id : 54062614869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the synonym of the word ‘adherence’?
Options :

1. ¢ Attachment

2. #® Release

3. # Perseverance

4. ® Separate

Question Number : 80 Question Id : 54062614870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is definitely true about the Stop TB strategy?

Options :

1. # It has to be implemented by few countries, whose methods in controlling TB are not successful.

2. % WHO has drafted this strategy to enhance the treatment of TB and provide good medical care experience to the TB patient.
3. % Stop TB strategy has outlined 6-7 aims to be implemented in near future.

4. ® Tt is implemented to reduce TB on local scale without any hindrance.



Question Id : 54062614865 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (76 to 80)

Read the following passage carefully and answer the questions.

Fortunately, the WHO reports that some countries have continued to have major declines in TB cases; in Cambodia alone, the TB prevalence fell
by about 50 percent. Due to diagnostic and treatment efforts, about 37 million lives were saved between 2000 and 2013. However, maintaining
this success has mostly been complicated by HIV, MDR, XDR, the inefficacy of the BCG vaccine, false-positive screening tests, non-compliance
to treatment regimens, the complexity of MTB, and the stall in developing novel therapeutics.

In some countries, like India, China, and Russia, TB rates are only dropping slowly and still remain high. To address this concern, an additional
treatment regimen is undergone by patients called directly observed therapy short-term (DOTS), which closely monitors treatment adherence and
completion, with the goal of efficiency and cost-effectiveness. With the emergence of MDR-TB, DOTS-plus was initiated as a more rigorous
treatment strategy.

The WHO drafted a Stop TB Strategy, which outlines six aims to be implemented by all countries to reduce TB on both local and national scales,
with the overall goal of enhancing TB treatment, health care experiences, and research. It is the world's hope that at least some of these aims will
be achieved in the near future.

In this race to combat a disease that knows no boundaries, it is necessary to have a conceptual and clear understanding of TB overall. This can
only be enforced if collaborative efforts among research, public health officials, primary care professionals, and the general public continue to
push the boundaries of our current knowledge, mitigating the global burden of TB.

Sub questions

Question Number : 76 Question Id : 54062614866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?

Options :

1. * Stop TB strategy

2. ¥ Control of TB: Achievements, DOTS, Stop TB Strategy
3. * TB at its worst

4. % How to cure TB?

Question Number : 77 Question Id : 54062614867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following has never been a hindrance in maintaining the success of controlling TB?
Options :



1. ® HIV

2. ¥ MDR
3. ¥ DOTS
4. # XDR

Question Number : 78 Question Id : 54062614868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true about DOTS treatment?
Options :

1. # It is cost effective.

2. ® It’s an efficient treatment.

3. % It is more rigorous than DOTS-plus.

4. # Tt thoroughly monitors the completion of treatment.

Question Number : 79 Question Id : 54062614869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the synonym of the word ‘adherence’?
Options :

1. ¢ Attachment

2. #® Release

3. # Perseverance

4. ® Separate

Question Number : 80 Question Id : 54062614870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is definitely true about the Stop TB strategy?

Options :

1. # It has to be implemented by few countries, whose methods in controlling TB are not successful.

2. ¥ WHO has drafted this strategy to enhance the treatment of TB and provide good medical care experience to the TB patient.

3. % Stop TB strategy has outlined 6-7 aims to be implemented in near future.



4. % It is implemented to reduce TB on local scale without any hindrance.
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Question Number : 81 Question Id : 54062614871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 81 Question Id : 54062614871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 82 Question Id : 54062614872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forey TS wrect & werelf & ATUdd BT 1Y 8T € S8 o1 hed o7
Options :

1. % Sffddred I3

2. % gogardd I

3. ¢ URUTHATES I3

4. % AfFdqrad T

Question Number : 82 Question Id : 54062614872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % gdrad Il
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Question Number : 83 Question Id : 54062614873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $ARA

2. % BHR

3. % de

4. SITHIT

Question Number : 83 Question Id : 54062614873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed o § oiF-a1 T fage 18t 82
Options :

1. % AR

2. ® HOHR

3. % ol

4. SITHIT

Question Number : 84 Question Id : 54062614874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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question is 1gnored for all candidates.
Options :

1. 3dd

2. Jldd

3.ae

4. 3

Question Number : 84 Question Id : 54062614874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 3{c]

2. Ylddh

3. qed

4. 3

Question Number : 85 Question Id : 54062614875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % JgIF®

2. ¢ IS

3. % JGOHID
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Question Number : 85 Question Id : 54062614875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IgAF®

2. ¢ JEAAD

3. % JTHID

4. ® AR

Question Number : 86 Question Id : 54062614876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¥ U JUI - Y&H B
3. % B3 : BIY

4. % GeH BT : T SUAT

Question Number : 86 Question Id : 54062614876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % B3 : B

4. % GEH BT : T SUAT

Question Number : 87 Question Id : 54062614877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 87 Question Id : 54062614877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 88 Question Id : 54062614878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % DHcUAl

2. % faeR

3. % &y

4. % dd

Question Number : 88 Question Id : 54062614878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I T e T 82

Options :

1. ¢ DUl

2. % fagR

3. % &g

4. % dd

Question Number : 89 Question Id : 54062614879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HRP BT SR s gy formfor fpan @1
Options :

1. #® ﬁ,if

2. % %,aﬁ

3. % %,%]%‘I'Q

4. v’ef;w



Question Number : 89 Question Id : 54062614879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el PRP BRT TR R gy fymior fopar 2 |
Options :

1. % @1

2. % &% P

3. % & & oy

4.17%[;37[

Question Number : 90 Question Id : 54062614880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad ol o ¥ Y a1 &1 9949 DIl |
Options :

1. ¢ TR GH GaTh HIT 71|

2. % IR gGH GaIDHR Ial 71|

3. % IR TR gH aIS g1 YT

4. % GO SSH AR I 41|

Question Number : 90 Question Id : 54062614880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad ot O @ Y a1 &1 9949 Diford|
Options :

1. ¥ R GH GaTH I 71|

2. % IR GH GaTHR Il 1|

3. % IR ETHR gH 1S YT AT

4. % GO GSH IR I 41|




Question Number : 91 Question Id : 54062614881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRed arerit & | irgf areRy 1 BT
Options :

1. % TR 981 Ugad gl a8 YN 7|

2.« 1 g1 H g8l ugan i & 98 M |
3. % TR Ugad g 3R g8 YT 4|

4. % O g H g8l ugan al HFT gl Ul

Question Number : 91 Question Id : 54062614881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafea aret o 9 firsl ared 31 Siforg|
Options :

1. % TR 981 Ugdd g a8 YT T

2. ¢ 1 € I 981 ugan i g1 a8 YT T
3. % TR Ugad 8 3R 98 YT 4|

4. % SIY g H 981 Ugar a W b1 ATl

Question Number : 92 Question Id : 54062614882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arR & Iuged favm fag &1 9gH pifo |

310 IGIYR A e 31T
Options :

1. ¥ ;
2. %
3.9

4. % |




Question Number : 92 Question Id : 54062614882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 9Ty & Iuged form fag &1 o= pifor|

310 IGIYR I e 31T
Options :
1. % ;

2. % —
3.9 9
4. % |

Question Number : 93 Question Id : 54062614883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form fag &1 o= pifor |
1 7 Ty forar @ S1HT & HRUr R oS et

Options :

1. ® YHdldd
2. % Sl
3. ¢ ¢TI

4. % <fYUd

Question Number : 93 Question Id : 54062614883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T are T Iuged favm forg &1 =994 Fifom|
371 3 Ty fosar 98 SERT & HRUT TR 318 A

Options :
1. # YYddd



2. ® 3fGIRM
3. ¢ e

4. % QUq

Question Number : 94 Question Id : 54062614884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl & 9, 39 fawed o1 9o 3 o1 fT 70 JeTar & 3 &1 Jd9§ U I oJad HRal o |
31y T 31T

Options :

1. % §gd Hg-Td Bl
2. % g H Bl

3. % HgdaH g

4. ¢ HTOICY g1

Question Number : 94 Question Id : 54062614884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 8 9§, 39 fawed &1 999 o S faU 0 GgTak & 31l &1 9a98 ¥ ¥ ad Rl 5|
3fey &7 3fTT

Options :

1. % §gd HEAd DAl
2. % YU H HA

3. # AR GAEH
4.« YOG gl

Question Number : 95 Question Id : 54062614885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawed § 9, 39 fawed o1 90 &3 o1 fT 70 JRTer & 31 &1 Jd9§ U ¥ oJad SRl o |




T B Al P g B
Options :

1. % B3 HIR 9 TG
2. % §EHMI

3. ¢ U g1 UPR b ANl
4. % O™ ST

Question Number : 95 Question Id : 54062614885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 7T geTer & 31 &1 a9y ¥U ¥ oJad HRal g |
T & Aeh & Te-a2 g

Options :

1. % Pl AR A IG

2. % dghlHl

3. ¥ U B UbR & dl

4, ® TG M

Sub-Section Number : 2

Sub-Section Id : 540626820
Question Shuffling Allowed : Yes

Question Id : 54062614886 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

fafeRad TR & eFYde Ug SR fau T 0% & SR ¢ |

T 1 AR g, IR 9 Ual # ¥ U Ud ¢ | I8 Ud BIeH! gfofa &1 gifeiert g8 & Ui 293 $W1 ufauer & I41a1 SIdT | | a9+ g &1
W%wﬁtﬁww%wwwwmﬁmwwawmﬁwﬁaﬁﬁaﬁam%%ﬁwﬁ
WA U DI IR H Bt 81 Bieht T AeR R YR & 8 dUT I & ry-J1Yy AUTe, ST er, 3mieT, iefern, HrsT ol &3 i
2 o T ST 21 HR &SI BT ST S-S TN B ST ST S Q HAT el 1 37T Y 57 o TSHR Bl e UG 2,




oil fob SR H FTS STl 8 | HERIY H H© SITg! TR gledt b RETHT 7T 7Mid1 H RETHITd 68T STl & d HivgR H gieil &l B: & dep 715
STl & | STTe H WS- o forw RITR & Bl 1 qR 91el 38T STl § d 39 Ud &1 fIR1Y 1fifes, U110 @ ArH1foieh Hgd g | giell bl Ura
Ud U5 YGR S1dT 3 fob AT 30U 351, GaN TUT TRER G I YelTohR GHIAT I UH T P11 SUTT | HIG-HKT d HARSH & 39 Ud
H gfl-g =t afeferd g T gaRl ol 4 fEferd g g URd &¥ 1 U8 Ud gAR) Wepfae favrdd 31 4 9t 1 U Sded & [ gr Ha
HTGTT IHTE G o 3 areft difeat marf<aa g 9o |

Sub questions

Question Number : 96 Question Id : 54062614887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl BT TIER 8 FHaT el 62
Options :

1. ® digracd!

2. ¥ gl

3. % T¥Uq

4. % fopgHy

Question Number : 97 Question Id : 54062614888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FRTo! e HET STl /2

Options :

1. % B

2. % IRGHG

3. % guiBg

4. ¥ YA FB]

Question Number : 98 Question Id : 54062614889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP H gl Bl 1 gl oIl 82

Options :



1. ¢ R
2. % ¥y
3. %
4. % gY

Question Number : 99 Question Id : 54062614890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fai & - T B U B daRt & it |2
Options :

1. % SIC B

2. ¥ Tl B

3. % T Bad

4. % facg B

Question Number : 100 Question Id : 54062614891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TR BT FUGR b T G2
Options :

1. ¢ BIcil T AR

2. ® FRIS BT AGR

3. % 3991 9 Ay

4. % Hd HIAAT

Question Id : 54062614886 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

frafaRad T & eryde ue SR R M Uy & IR S|

T T R BIell, IR S Ud! & W TP Ud ¢ | T8 Ud BIAH! GO ) SiferesT a8+ & UsTq o Fo01 Ufduer § H11 Sffdl § | a9 Bd &l
BRI & A1 F o SI1 ST 8 | S UBR BIAH &1 HeH1 WY 30 Aed Tigd audT il Uad & arTl &1 gid &Rl g1 § a1 Xall &l




U U P dURI A gid! gl gl ol AIgR IX HRA H 88 adT ST & ArY-TrY T, SaTG R, SReT, Reiordr, Hrel o &5 oIt
# +ff T STar 8 1 HIRA H gieh T ST S-SR U= H 3T 3T dild I H=1 STl 8 1 3T H §91 1 doHAR gich gea URig §,
STl b SR H FATS STl § | HERTP H S W16 UR gIal b RITHT GT 7MidT H RETHITd g1 Sffdl § @ HivgR | gieit &l 8 & d& 715
STl & | STe H W1 S o forw RITR & Bl 1 gR 91el Q1 STl 8 d 39 Ud 1[I 41fifes, ORI @ ArHifoie Hgd g | giell ol Ura
Ud g T I 8 fob AT 310 W, G qUT URER AR 1 YATHR FHIAT G UH BT 2 BeHI01 U | HIG-HEN § FARSH & 39 Ud
¥ gl i & w1 guR! &l Hf 9imferd g og URd 31| I8 Ud gAR! IXpfie fovmad g1 0 9 &1 98 S & [ ga Ha
TG §9TC 3 FSE 3 arelt ifedr MRarfad g I |

Sub questions

Question Number : 96 Question Id : 54062614887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T BT AR ¥ FHgT Sl 52
Options :

1. % diurgef!

2. ¥ gl

3. % T¥Uq

4. % fhaHy

Question Number : 97 Question Id : 54062614888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS [l g Il 87

Options :

1. % Y 36q

2. % IR HY

3. % 9Nl g

4.« qhd BJ

Question Number : 98 Question Id : 54062614889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TERTY o Bieht &Y o1 T ST 22



OptiJns:
1. « RRrTEr
2. % 3y
3. % W
4. % gY

Question Number : 99 Question Id : 54062614890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 A & 1. I vyt ueha ) Ja B gl 8
Options :

1. # NG Byl

2. ¢ Il B

3. % W% o

4. % forcTg-t et

Question Number : 100 Question Id : 54062614891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUad T BT IUgad NS FT R
Options :

1. ¥ Bidil DT ABR

2. % BN BT AR

3. % SH 9 gay

4. % T YTGT

Disciplinel
Group Number : 6
Group Id : 540626509
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 540626683

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 540626821

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062614892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first scholar who divided the world landmass into three continents-Europe, Asia and Libya(Africa)?
Options :

1. ¥ Herodotus

2. % Anaximander

3. % Hipparchus

4. % Posidonius

Question Number : 101 Question Id : 54062614892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fasy & YT B 7 TRl gRIu, T qut dfsar (snpien § fauTird w- are uge fagH & 22
Options :

1. ¢ fRIeicd

2. % 3FATSIHUSY

3. % fgWRPY

4. % QIRySIag

Question Number : 102 Question Id : 54062614893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The period of ‘The Great Age of Discovery’ started after the
Options :

1. % Seventeenth Century

2. ¥ Fifteenth Century

3. # Eighteenth Century

4. % Nineteenth Century

Question Number : 102 Question Id : 54062614893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WA BT HEH T P HEEY  FH dE L= gs A
Options :

1. % goygdl gdl

2. ¢ Uggdl 4

3. % 3BREdl Fdl

4. % IAGIT Tl

Question Number : 103 Question Id : 54062614894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who formulated the concept of ‘The geographical pivot of history’?
Options :

1. ¥ Halford J. Mackinder

2. % Peter Kropotkin

3. # Jean Brunhes

4. % Albrecht Penck

Question Number : 103 Question Id : 54062614894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIET BT UM ¢RI P SGYRON foge ufauried ot 2t
Options :

1. ¥ TEDIS o, iU

2. % G shIarcfa

3. % S g8

4. % 3fTeToiee Udh

Question Number : 104 Question Id : 54062614895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gangetic Gulf which is now known as Bay of Bengal, was plotted for the first time by
Options :

1. # Aryabhata

2. % Strabo

3. ¥ Ptolemy

4. % Al-masudi

Question Number : 104 Question Id : 54062614895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfess e oY 3@ 7T o1 WISt &b =0 H ST 71T ], P! Ut IR SRT 3TaRad fopar mar ol

Options :




1. % 3Miyg
2. % WHI

3. ¢ oMt

4. % 3[-0al

Question Number : 105 Question Id : 54062614896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been universally recognized as the founder of human geography?
Options :

1. % Marco Polo

2. % V.V. Dokuchaev

3. # William Moris Davis

4. ¥ Friedrich Ratzel

Question Number : 105 Question Id : 54062614896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
M4 Y & SIS & ©0 § aHiis €0 3§ f69 Wied fear mng?

Options :

1. % AP grat

2. % Q4. g
3. # fafergm oy Sfaw

4. TSR Yeold

Question Number : 106 Question Id : 54062614897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The name of Alexander Von Humboldt is associated with which water current?
Options :

1. # Alaskan Current



2. % Peru Current
3. #* El Nino Current

4. % California Current

Question Number : 106 Question Id : 54062614897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR af Balee BT A fohd STAURT I ST g3 32
Options :

1. % 3R Bl YRT

2. ¢ UF &l URT

3. % T YR

4. % PHITHIFIT BT YR

Question Number : 107 Question Id : 54062614898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Salmalidwipa’ one of the continents recognised during Puranic period derived its name from
Options :

1. # Poa Grass

2. ¥ Silk Cotton Tree

3. % Salt Ocean

4. % Crescent Flower

Question Number : 107 Question Id : 54062614898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIUT T & SR ST HETgd § § U IaHTeiig iy &1 9| I e mar 8|

Options :
1. % Q3T Uy
2. ¢ WHHIE H1US




3. % 9qUl (HTeT) HENINR
4. % IOBHR (fhde) Bd

Question Number : 108 Question Id : 54062614899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following were the first geographers to put forward the idea of the periodic nature of the monsoons?
Options :

1. ¥ The Arabs

2. % The Greeks

3. ¥ The Romans

4. % The Americans

Question Number : 108 Question Id : 54062614899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR &1 1A UHid & faR &1 9 I a1d Ugd Yiiadadl Fafrad 8 § & 92
Options :

1. ¥ 3Rd

2. % Uiy

3. % A

4. % 3{Eiel

Question Number : 109 Question Id : 54062614900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the T-O maps, introduced during the period of Christian Europe, the stem of the ‘T’ represented
Options :

1. # The Nile River

2. % The Aegean

3. ® The Black Sea



4. ¥ The Mediterranean

Question Number : 109 Question Id : 54062614900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS RT & B b SR Talad fpy T AN AR 8, S S qaveg 7 &1 ufafifda i)
Options :

1. % faad

2. % SfoR

3. % DIl Y%

4. % YHHHTR

Question Number : 110 Question Id : 54062614901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘landscape’ in the field of geography was introduced by which of the following?
Options :

1. # Christopher Columbus

2. % Carl O. Sauer

3. # Ferdinand Magellan

4. % Albert Demangeon

Question Number : 110 Question Id : 54062614901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WA & &3 § YT (Tehy) Weg MUfaRad & I forg & gRT vgd fobam Tram um

Options :

1. % fohcIhR Biciaq
2. ¢ BT 3. TR

3. % BfSds WTaH

4. % 3dac feAiforat




Question Number : 111 Question Id : 54062614902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List — I of scholars with List — II of their associated titles and select the correct answer from the given options.

List-I List-IT
a | Anaximander i | Father of Exceptionalism
b | ImmanuelKant | ii | Father of Cosmology
c | Strabo iii | Father of History
d | Herodotus iv | Father of Regional Geography

Options :

1. ® a-i, b-ii, c-iii, d-iv
2. ¥ a-ii, b-i, c-iv, d-iii
3. ® a-i, b-iv, c-ii, d-iii

4. % a-iii, b-1, c-1v, d-11

Question Number : 111 Question Id : 54062614902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagm Bt It - 1 1 37 afdd et @t Gaft - 1 T Fram o 3R U U faswedt o @ 96l SR &1 999 Sifor|

kL T
a | yATATHUST i | HETUROTET & A«
b |SFHACH Fid | ii | FEAE A F T
c | FeaT iii | e & e
d | frEew iv | SIS sEie & SAAd

Options :




1. * a-i, b-ii, c-iii, d-iv
2. ¥ a-ii, b-i, c-iv, d-iii
3. ¥ a-i, b-iv, c-ii, d-iii

4. % a-iii, b-i, c-iv, d-ii

Question Number : 112 Question Id : 54062614903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are correct regarding the contribution of Varenius in the development of geography?

I. He was the first geographer to divide geography into ‘general or universal geography’.
II. He was mainly interested in the study of physical geography.
II1. He was the only scholar who believed geography is indispensable for the development of human society.

Options :

1. # T and III

2. % Only I

3. % Il and III
4. % I 1 and III

Question Number : 112 Question Id : 54062614903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl o faepTal § R0 & dTeM & Fasl H Fafefad § 9 & 91 o3 98 o/8?

1. 98 YN &I I 1 A e & fauTiord &= ardl ugd Yiied<r 3|
1. 98 T =0 J Wifdss yid & e § 1 3@d 3|
111 3 T AT QR g A et A1 o1 i3 Hiea 9o & fasrg & o et s 21

Options :

1. % 1dYUTIII
2. ¥ Had |

3. % I dUTIII
4, % I, I dYT I




Question Number : 113 Question Id : 54062614904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R):

Assertion (A): Pragmatism is a modified form of Functionalism.
Reason (R): Pragmatic geography identifies geographic space as a composite of knowledge and error.

In the context of the above two statements, which of the following is correct?
Options :

1. # (A)is correct, but (R) is wrong.

2. ¥ (A)is wrong, but (R) is correct.

3. % Both (A) and (R) are correct and (R) explains (A).

4. # Both (A) and (R) are wrong.

Question Number : 113 Question Id : 54062614904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 G Hy feu U B, o8 T U & SIS YT (A) 3R R & HRUN(R) & U H dad [Ha1 T |:

DU (A): ATTGIRB AT BRATHD T BT T JNAT U |
HRUT (R): HTGEIRS YA U R &I T4 3R e & Ao & U & Ugadl g |

ST &l HYA & e 7, Fufiad ¥ I s arggt 72
Options :

1. % (A) 98I g, Wi (R) TAd B |

2. ¥ (A) TTEd §, Wb (R) I8! 5

3. % (A)TUT(R) GFI GBI 8 TUT (R), (A) BT RS BT §
4. % (A)TYT(R) TFI 7T §

Question Number : 114 Question Id : 54062614905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the shape of the Atlantic Ocean?



Options :

1. ¥ S-Shape
2. % U-Shape
3. # V-Shape
4. % O-Shape

Question Number : 114 Question Id : 54062614905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fedifed AGRITR BT SHR HT 82
Options :

1. ¥ S-3{[PR

2. & U-3PR

3. # V-3{[dR

4, % O-HDR

Question Number : 115 Question Id : 54062614906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following collectively make up the group called Jovian planets?
Options :

1. ¥ Jupiter, Saturn, Uranus and Neptune

2. # Mars, Jupiter, Uranus and Neptune

3. ® Mercury, Venus, Earth and Mars

4. ¥ Venus, Earth, Mars and Jupiter

Question Number : 115 Question Id : 54062614906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ ®F ¥ IMg® U ¥ Saa- Jg! AHe WHg & §-1d g2

Options :




1. ¥ gedfd, T, g9 9UT U
2. % TITd, §efd, g9 adT Huagd
3. % gY, Yeh, Gl T HiTc

4. % b, Gl, TS TUT §geid

Question Number : 116 Question Id : 54062614907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On an average, the density of the earth’s interior is
Options :

1. %26

2.¥55

3.% 47

4. % 34

Question Number : 116 Question Id : 54062614907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G U W, gt & 3HidRkes HFT &1 o gl
Options :

1. %26

2.¥55

3.% 47

4. % 34

Question Number : 117 Question Id : 54062614908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which seismic wave causes vibrations at right angles in the direction of wave movement?
Options :

1. #* Love Waves



2. * P Waves
3.4 S Waves
4. # Rayleigh Wave

Question Number : 117 Question Id : 54062614908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Tifa Y = A B T Yy aRT GHB 0 IR U I BT 22
Options :

1. % 9 a4

2. % P

3. ¢ ST

4. % XA A

Question Number : 118 Question Id : 54062614909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The region extending between continental shelf and deep sea plain is known as
Options :

1. # Mid-Oceanic Ridge

2. ¥ Continental Slope

3. % Guyots

4. ¥ Deeps

Question Number : 118 Question Id : 54062614909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTEIU ST T 9T 7T (TYR) T Ae™ & o9 thal & &l & ¥Y H SH STl g |

Options :
1. % HY-HGIUNR dhch

2. ¢ HEEIUd oTd




3. % o fgu (M aie)
4. % TR

Question Number : 119 Question Id : 54062614910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pacific Ocean is connected to Arctic Ocean through
Options :

1. # Indonesian Archipelago

2. ¥ Bering Strait

3. % Magellan Strait

4. % Hawaiian Islands

Question Number : 119 Question Id : 54062614910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URId HENR & A1 ¥ $Tdhfed TENFR ¥ ST g3 g
Options :

1. % SRR gIog

2. ¢ SR STt

3. % TSleH ST

4. % A8 SIUTE

Question Number : 120 Question Id : 54062614911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The boundary known as ‘Weichert-Gutenberg Discontinuity’ lies between which of the following?
Options :

1. % Upper crust and lower crust

2. % Upper mantle and lower core

3. ¥ Lower mantle and upper core



4. # Upper crust and lower mantle

Question Number : 120 Question Id : 54062614911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TARIEICTeT Sriagar & ATH I S o1 arelt i Fafeiad # 3 forass oiw g2

Options :

1. # U youct qut et Yoo
2. % SHURI YUIIR qT el hie
3. ¢ A9l YUaR aUT JWR i
4. % FHUR YUt quT et YuaR
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Question Number : 121 Question Id : 54062614912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The origin of continental shelf is due to which of the following processes?
Options :

1. % Accumulation of black soil near the ocean

2. ® Positive change in sea level

3. ¥ Simple faulting along continental margins

4. % Indented coast due to rise in sea level

Question Number : 121 Question Id : 54062614912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTaIU e T 1 It Fafefad & 9 oy ufshar & SRur il 82

Options :

1. % YR & U SIcll fHel &1 ¥=a

2. % UG & ¥R T YHRIASD dedrd

3.« TRTEIU JUid (HIfoi) & 1 TR Bifeed]
4. % gOg & WR U 9ig & SR SR dc

Question Number : 122 Question Id : 54062614913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who propounded the tidal hypothesis to explain the origin of the earth in 1919?
Options :

1. ¥ Sir James Jeans



2. % Para Laplace
3. # T.C. Chamberlin
4. # R.S. Morgan

Question Number : 122 Question Id : 54062614913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1919 T gdt Pt IART D1 ARSI B & oI SIRIY RSB a1 o fobega wfcrarfed fabar um
Options :

1. ¥ WO S

2. % T AT

3. % A4 defel

4, % R.TY. AN

Question Number : 123 Question Id : 54062614914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following layers of the earth is in the correct order from the exterior to interior?
Options :

1. * The mantle, the crust, the core

2. ¥ The crust, the mantle, the core

3. * The core, the mantle, the crust

4. # The core, the crust, the mantle

Question Number : 123 Question Id : 54062614914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt Bt fEfaRad & 9 $1F I IRd 917 ¥ 3iaRe ab del HH H 52
Options :

1. % YOMER, YUUS, sl

2. ¢ YU, YUTaR, 18



3. % D8, YUOR, Yqudl
4. % PIs, YUUcl, YUTEAR

Question Number : 124 Question Id : 54062614915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the north of the equator, the Mid-Atlantic Ridge of the Atlantic ocean is known as
Options :

1. # Telegraphic Plateau

2. # Challenger Rise

3. % Dolphin Rise

4. ¥ Wyville Thompson Ridge

Question Number : 124 Question Id : 54062614915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA TG & IR H, 3fediicd HENNR &I Ae-3cdifesd dedh (R dl & U 8 o1 oidl g |
Options :

1. % T d USR

2. % TeloR IUR

3. ¢ lfethd SHR

4. % difdel YT Hed

Question Number : 125 Question Id : 54062614916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first person to devise an instrument used to detect the unfelt and guess the direction to the epicentre of earthquakes during 132 A.D?
Options :

1. # A.Holmes

2. % Chang Heng

3. % James Maxwell



4. ¥ P.C. Mahalanobis

Question Number : 125 Question Id : 54062614916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

132 3.1, UYT P SR YebU P Ih g ! ISR BT STHM T 3R HegH - 81H dTell I o1 Udl A o forg IuainT fg o ardl
JUHRUN BT TR B dTel Ugdll fad B U1

Options :

1. % T

2.« BT

3. % OR Hqqad

4. % O ). HeraHifeg

Question Number : 126 Question Id : 54062614917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct about the Binary Star Hypothesis of Russell?

Options :

1. # Russell was of the view that there were three stars revolving around the sun.

2. % This theory was postulated by Kant in 1950-60 and validated in 1972.

3. % According to this theory, all matter in the universe existed in the form of dense and huge primordial matter.

4. ¥ This hypothesis explained the formation of the planets from the ejected matter of the companion star.

Question Number : 126 Question Id : 54062614917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifed & ¥ o1 1 5y A & fgdRT URkebeqr & IR § Tt 82

Options :

1. # T0d 39 [qaR &1 41 7o g & IRT iR &9 ar gqd Y|

2. % 3 RAGId &1 Bic GRT 1950-60 T UG foar 71 41 7T 1972 T 1= o T o7

3. % 34 f4gid & SfuR, e & 9t uerd gu= aut fawna snfe uerd & & u § divg 3|



4. ¢ 39 ING AT 3 it dR ¥ d18R s uerd T Ugl & i &t saren & g

Question Number : 127 Question Id : 54062614918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correctly matched?

I. Barysphere- 2780 Kilometres
II. Lithosphere- 100 Kilometres
II1. Pyrosphere- 200 Kilometres

Options :

1. # Iand II

2. % Only II

3. % Il and III
4. % I, 1I and III

Question Number : 127 Question Id : 54062614918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & A & 91 9e! <11 Hel Tl 67

I TEHEd - 2780 faier
1. RAHSA - 100
11 IAUHES - 200 fparex

Options :

1. % 1dYT I
2. Had Il
3. % IIdYUT I
4. % 111 dYUT I

Question Number : 128 Question Id : 54062614919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R):

Assertion (A): Hundreds of tremors are recorded by the seismographs.
Reason (R): Seismographs help us in unraveling the mysteries of the earth’s interior segment.

In the context of the above two statements, which of the following is correct?
Options :

1. % (A) is correct, but (R) is wrong.

2. # (A)is wrong, but (R) is correct.

3. % Both (A) and (R) are correct and (R) explains (A).

4. # Both (A) and (R) are wrong.

Question Number : 128 Question Id : 54062614919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For Y R MU B, 58 B T 31 3HfUHYF (A) 3R THR B HRUN(R) F Y H qdad 61 T §:

B YT (A): Y UTRE GRT Ah e Fcdh aof HT ML B
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Options :

1. % (A) U8l 8, Wi (R) T B |

2. % (A) TT9d §, Wb (R) T8I 5

3. ¢ (A) 9UT (R) GIFI T8I § UT (R), (A) BT SRS HT §
4. % (A)TYUT(R) S 7T ©

Question Number : 129 Question Id : 54062614920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fjords is a landform created by
Options :

1. ¥ Marine erosion



2. % Glacial erosion
3. % Wind deposition

4. ¥ Mountain weathering

Question Number : 129 Question Id : 54062614920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
we_ grifffa e dewid gl
Options :

1. % GO $IRGA

2. ¢ feHE STReA

3. % gdl'Sh FHE

4. % Udd S(Uar

Question Number : 130 Question Id : 54062614921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process through which wind transfers warm or cool air horizontally from one place to another is known as
Options :

1. # Conduction

2. ¥ Advection

3. # Convection

4. % Absorption

Question Number : 130 Question Id : 54062614921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 Ufehan fSrIdh ATeqd ¥ a1d 6 1 o1 8aT BI &l ©0 ¥ Ueh RIM I G RIM R VMR HRc1 8, B & ®g H THET ST g |
Options :

1. % Ydlghd

2. ¢ 3HfYTgT




3. % Jdgd
4, % QYT

Question Number : 131 Question Id : 54062614922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sedimentary rocks is formed organically?
Options :

1. ¥ Limestone

2. # Shale

3. % Gypsum

4. # Salt rock

Question Number : 131 Question Id : 54062614922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiied & 9 319 I sfaurel I e U ¥ 1 67
Options :

1. ¢ JATUR

2. % T

3. % forem

4. % Giee b

Question Number : 132 Question Id : 54062614923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is in the soil group of azonal soil?
Options :

1. # Podzol soil

2. % Alluvial soil

3. % Laterite soil



4. % Desert soil

Question Number : 132 Question Id : 54062614923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafea § 3 &F 91 SR F Jar g 3 82
Options :

1. % Uigelld qar

2. ¥ Sellg Hal

3. % TICRIZC Al

4. % TR

Question Number : 133 Question Id : 54062614924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of low cloud is responsible for continuous precipitation?
Options :

1. # Stratocumulus

2. # Stratus

3. % Nimbostratus

4, % Altocumulus

Question Number : 133 Question Id : 54062614924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR aufur & fore forg YR o1 A a1gd foiieR 82
Options :

1. % TRIGUNT (LlagHy)

2. % TR (¢

3. ¢ quia’t (HaReaa)

4. % T DU (ST IRRITH)



Question Number : 134 Question Id
Orientation : Vertical

: 54062614925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Knickpoints can be identified in the course of a river by the presence of

Options :

1. ¥ hard rocks

2. # less waterfalls
3. # fungal growth

4. % malleable stones

Question Number : 134 Question Id
Orientation : Vertical

: 54062614925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Tt & art & P SUFRfT T pUige ) U &) o Tobdl g |

Options :

1. ¥ SR IgHI

2. % HHIRA

3. % DHdPh [dHr

4. % JTITAIYT TR

Question Number : 135 Question Id
Orientation : Vertical

: 54062614926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following processes release energy?

Options :

1. # Evaporation
2. ¥ Condensation
3. % Sublimation
4. ® Melting

Question Number : 135 Question Id

: 54062614926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefed & 3 o1 T ufshar Soll 3Had Bl 82
Options :

1. % iUl

2. ¢ JUIq

3. % H@EUad

4. ® I

Question Number : 136 Question Id : 54062614927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factors affect the distribution of insolation?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Sunspots

2. Distance between the earth and the moon

3. Length of night

4. Landform of a region

Question Number : 136 Question Id : 54062614927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied & 9 &1 91 SRS JaTdU & [GaR01 I JHTTId Sl 62
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
1. 8 (F-ic)



2. G} YT IesHT b S Bl gl

3. 3 B T=E
4. TP &F I ASHIH

Question Number : 137 Question Id : 54062614928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ground that stays frozen for at least two years in a row is called
Options :

1. ¥ Permafrost

2. # Ice shelf

3. % Ice pack

4. % Glacier

Question Number : 137 Question Id : 54062614928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HH Y HH & HUNT I8 dd [gH I d Xg- aralt Ul &I FHET AT g |
Options :

1. ¥ THTHRS

2. % fgA A

3. % Wl iRHgS

4. % fowq

Question Number : 138 Question Id : 54062614929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a warm ocean current?
Options :

1. % Labrador Current

2. % Gulf stream



3. ¥ South Atlantic drift
4. ® Falkland current

Question Number : 138 Question Id : 54062614929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofaied o 3 I T IeTRIY ORI 62
Options :

1. % TSISR URT

2. ¢ e L

3. % TIem sreqife® faRmA(Sw)

4. % Bldhdis YR

Question Number : 139 Question Id : 54062614930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When air pressure and water vapour content , then fog forms.
Options :

1. # vary regularly

2. # are unsaturated

3. % are above dew point

4. % are constant

Question Number : 139 Question Id : 54062614930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VA HIGAd IR aI IR A Ppleasdr gl
Options :

1. % Faffd U 9 9¢ad 364 8

2. % I EA®

3. % g IFIWEd T




4. ¢ RREAE

Question Number : 140 Question Id : 54062614931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the world’s deepest freshwater lake?
Options :

1. # Lake Pulicat

2. # Lake Victoria

3. % Lake Baikal

4. # Lake Superior

Question Number : 140 Question Id : 54062614931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay o Tad T 1S U 31 Sid &1 1 a1 5
Options :

1. % gfeide oiid

2. # foaifean Sitd

3. ¢ dHa did

4. % gUIRIR gitd
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Question Number : 141 Question Id : 54062614932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of sand deposit is also called whalebacks?
Options :

1. ® Sand shadow

2. % Sand dunes

3. ¥ Sand levees

4. % Sand drift

Question Number : 141 Question Id : 54062614932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhT JPR & 91 HSR I waad Ui el Il 82
Options :




1. % BEATER]
2. % §I b <l
3. ¢ 9] dedy
4. % ¢ fowiod ((§)

Question Number : 142 Question Id : 54062614933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dobson unit is defined as a unit used for measuring
Options :

1. #* Humidity in air

2. % Ozone concentration

3. * Normal temperature of air

4. % Relative pressure

Question Number : 142 Question Id : 54062614933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SSgIShIs ! I AU & ol IUTNT &I O dTell 3bTs & U H GRHIT far g1
Options :

1. % gal o 3Tl

2. ¢ 3Gl Higdl

3. # gdl ol JTH dIqHTA

4. % Y&l caTd

Question Number : 143 Question Id : 54062614934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which pressure belt is also called horse latitude?
Options :

1. ¥ Sub-tropical high pressure belt



2. # Sub-polar low pressure belt
3. # Equatorial low pressure belt

4. ® Polar high pressure belt

Question Number : 143 Question Id : 54062614934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for aTa Ut BT 1y SHeft=T +ff T ST B2
Options :

1. ¢ JUINUI 3= <Td 1 Ufed

2. % JU-ydig 4 a8 &1 ufeai

3. % YHYRWEY Y a9 o1 ofeg

4. % syda g or &) e

Question Number : 144 Question Id : 54062614935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sources of underground water is derived from sedimentary rocks?
Options :

1. ¥ Connate Water

2. % Meteoric Water

3. # Juvenile Water

4. ® Qceanic Water

Question Number : 144 Question Id : 54062614935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 YftnTd o &1 ®IF 1 Hid STl g 3 U gidl 82
Options :

1. ¢ 9 (@) Jd

2. % JTHIA o




3. % A (SOfq) S|
4. % TENIRI oA

Question Number : 145 Question Id : 54062614936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which salt is abundantly present in the sea water?
Options :

1. # Calcium carbonate

2. ¥ Sodium chloride

3. ¥ Magnesium chloride

4. ® Potassium sulphate

Question Number : 145 Question Id : 54062614936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PRy HIaHC

2. ¢ GIFSTH KNGS

3. % IR FARES

4. % IR Fethe

Question Number : 146 Question Id : 54062614937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When , then air is considered to be stable.
Options :

1. ¥ Adiabatic lapse rate of air > Normal lapse rate of air
2. # Normal lapse rate of air = Non-adiabatic lapse rate

3. # Adiabatic lapse rate of air = Normal lapse rate of air



4. ® Normal lapse rate of air > Adiabatic lapse rate of air

Question Number : 146 Question Id : 54062614937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

99 A9 gai Sl RR AT S|

Options :

1. ¢ a1 BT SGIS Ud &2 > BT BT ITHI U &
2. % A1 ] MHI U &R = §d1 T 3G Udd &
3. % BAT BT BGIW U &R = §al BT GHHI Ua &
4. % a1 PHT M T &R > §al BT S I ax

Question Number : 147 Question Id : 54062614938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In soil horizon, ‘C’ layer represents
Options :

1. ¥ Weathered parent material

2. % Organic debris

3. # Consolidated rock

4. ® Maximum silicate clay material

Question Number : 147 Question Id : 54062614938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e afewd, cwma erufafRfia srd gl
Options :

1. ¢ 3{Oelvr 5 At

2. % HleD Td]

3. % gAfbd IgH

4. % 3ffepay Riferde gt arrht




Question Number : 148 Question Id : 54062614939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following forms of precipitation has a diameter about 5-50 mm?
Options :

1. # Snow

2. % Sleet

3. ¥ Hail

4. ¥ Drizzle

Question Number : 148 Question Id : 54062614939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

auur o FEfRed & ¥ f5¥ U &1 ™ 5-50 mm BIdT 62
Options :

1. % f&w (@

2. % eA R (%)

3. ¢ 3P (8

4. % BER (Aal)

Question Number : 149 Question Id : 54062614940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the old folded mountains?
Options :

1. # Rockies

2. # Himalayas

3. # Andes

4. ¥ Aravallis

Question Number : 149 Question Id : 54062614940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed # § &9 9 M aferd udd &2
Options :

1. % feprol

2. % fgOre™

3. % TI9

4. ¢ 3RITAI

Question Number : 150 Question Id : 54062614941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which layer of atmosphere is characterised by the occurrence of Auroras?
Options :

1. # Mesosphere

2. ® Troposphere

3. % Stratosphere

4. ¥ Jonosphere

Question Number : 150 Question Id : 54062614941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IHST B! [ URd &1 UgaT 4dTd TehTRT (3RIRW) 82

Options :

1. % gEHSd

2. ¥ giyHed
3. % gUAUHSA
4. ¢ ATHSA

Question Number : 151 Question Id : 54062614942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

When the sun, the earth, and the moon come in the position of quadrature, then which tide is caused?
Options :

1. # Spring tide

2. # Zenith tide

3. ¥ Neap tide

4. % Ebb tide

Question Number : 151 Question Id : 54062614942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o g, gedt 3R d5HT & o R & 311d 8, df I 1 SaR I giaT /2
Options :

1. % gUd SOR

2. % WY SR

3. ¥ @Y (FlY) SR

4, % AR «dR

Question Number : 152 Question Id : 54062614943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the amount of the salinity of an ocean is higher, then the
Options :

1. ¥ freezing point will be lower

2. % evaporation rate will also be higher

3. # density will be lower

4. ¥ temperature will be lower

Question Number : 152 Question Id : 54062614943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Tt AR &1 AqurdT &1 |71 e 8, ot




Options :

1. ¢ Hi® A 8

2. % g & M 31fe g
3. % g HH g

4. % qIOHE HH BT

Question Number : 153 Question Id : 54062614944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rate of evaporation does NOT depend on which of the following factors?
Options :

1. ¥ Availability of wind energy

2. % Water vapour content of the atmosphere

3. ® Temperature of air and surface

4. ® The availability of surface moisture

Question Number : 153 Question Id : 54062614944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRY BT & FAfRad dR®! H ¥ fog iR ARk 78 st o2
Options :

1. ¢ UaH Sl 1 el

2. % dlgHSﬂﬁ\ﬂﬂdl&laﬁHlﬂl

3. % Hdg dYUT gdl Bl dIIH

4. % g 3MTedl Bl SeHGd

Question Number : 154 Question Id : 54062614945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Cano Cristales River is also known by which name?
Options :



1. ¥ Liquid rainbow
2. # Boiling lake
3. % Frying pan lake
4. # Floating lake

Question Number : 154 Question Id : 54062614945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 foped 1) Y SR oy A1 & ST Tl B2
Options :

1. ¥ A FaUIY

2. % Jodd ol

3. % g7 U St

4. % Ol 3ha

Question Number : 155 Question Id : 54062614946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of classification of mud by Murray, the colour of blue mud around the oceans is simply bluish-black due to the
Options :

1. % accumulation of green silicate

2. % presence of iron sulphide

3. # disintegration of rocks

4. ® excessive amount of magnesium

Question Number : 155 Question Id : 54062614946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R gRT Ueb & b0 F SMYR W, HEENRI &b IRY 3R 1 Uep o1 37 =iefl-pTen dbad % HRU BT g
Options :

1. % g3 Rifcrdre & d=9g



2. ¢ AR Gehlss B Uiyl
3. % ggMl o fdged
4. % TIRRH P 31f¥ew AT

Question Number : 156 Question Id : 54062614947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correctly sequenced in the descending order of their percentage in air?
Options :

1. # Oxygen, Nitrogen, Methane, Argon

2. # Carbon dioxide, Oxygen, Nitrogen, Methane

3. ¥ Nitrogen, Oxygen, Argon, Carbon dioxide

4. # Methane, Nitrogen, Oxygen, Helium

Question Number : 156 Question Id : 54062614947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffed & @ 1 Q gar § 37 Ufaid & 3raig A H It ¢ ¥ el 82
Options :

1. % SiqIoH, ATSerom, T, S

2. % HIe- SRS S, 3o, Ao, WA

3. ¢ 1SCIoH, SHTeRiIoH, 3T, HTe- SRHTES

4. % 099, A1SCIeH, HidtorH, giferad

Question Number : 157 Question Id : 54062614948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct example of ‘Bird-foot delta’?
Options :

1. ¢ Delta of the Mississippi in the U.S.A

2. % Delta of the Nile in Africa



3. # Delta of the Seine in France
4. # Delta of the Ganga in India

Question Number : 157 Question Id : 54062614948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad & 9 S1F-91 Ual Ua ST &1 g1 SaTeUl 82
Options :

1. ¢ g Iy 3R H HRIRU &1 Seet

2. % 3MBIDI H Hid Tl BT Secl

3. % TpIY H U & el

4, % YR H T BT Seel

Question Number : 158 Question Id : 54062614949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factors control the amount and distribution of salinity in the oceans?

I. Evaporation

II. Influx of freshwater from rivers
ITI. Atmospheric Pressure

IV. Precipitation

Options :

1. ®¥ Tand II

2. % II, Il and IV
3. % Tand IV

4. ¢ LILII and IV

Question Number : 158 Question Id : 54062614949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofIfed PRSI # Q B A AETITRI & daurdT &1 /T 3R faarur & fAafEd ovd 82
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IV.

Options :

1. % 1dUTII

2. % I I YT IV
3. % 1AUTIV

4. ¥ LILIL dUT IV

Question Number : 159 Question Id : 54062614950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why ancient mariners called westerly winds as ‘Furious Fifties’?

Options :

1. ¥ As westerly winds blow from the south-western direction to the north-eastern direction.

2. ¥ Because westerly winds are more forceful in the southern hemisphere between 40° to 60° south latitude.
3. % As westerly winds travel from the sub-tropical high pressure belt towards the sub-polar low pressure belt.

4. ® Because they are stronger in both the northern and southern hemispheres as compared to trade winds.

Question Number : 159 Question Id : 54062614950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ) AT A aTel ST A U3 Ta- bl <HT R T (RT3 oty o g 32
Options :

1. % UGS Ua- Sfeor-ufde f=m 9 STR-gdl fa=n &t 3R e g

2. ¥ T 40° H 60° TIE0T & & o GI&rof el § ug e uan i Uael gl 6|

3. % UZaf Ua- IUINUI I a1d &1 Ufed § IU-4di g ara ot Ufedt & 3R am Sl 8 |
4. % I d AN Ta-! DI ga- 8 IR 3R Glarfht Menef g1 o 31fde Aoga 5

Question Number : 160 Question Id : 54062614951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on their heights above the ground, which types of clouds can have a base of 10 km?
Options :

1. # Low clouds

2. ¥ High Clouds

3. % Middle Clouds

4. # Clouds with great vertical extent

Question Number : 160 Question Id : 54062614951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA & SR 375! SRl & YR W, fhg UHR & Tedl BT YR 10 fHH 81 ava 52
Options :

1. % g eea

2. ¥ 3 dlqd

3. ® Y dlqd

4. % fa=TTdl SeaieRfds™ a1 died
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Question Number : 161 Question Id : 54062614952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors does NOT affect the horizontal distribution of the temperature of oceans?
Options :

1. % Amount of insolation

2. ® Shape of the sea

3. %® Prevailing wind and ocean currents

4. ¥ Lines of latitudes

Question Number : 161 Question Id : 54062614952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRId FR®! T ¥ BIF T HERFRI & dIIHH & &fao] [qaRor &1 THIfad gl el 82
Options :

1. % gId & qE=

2. % S BT DR

3. % AT U dUT eNTRIT YRTT

4. &= P QT




Question Number : 162 Question Id : 54062614953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct example of ‘Intermontane plateau’?
Options :

1. # Garhwal plateau

2. # Mahabaleshwar plateau

3. % Tibetan plateau

4. ® Potwar plateau

Question Number : 162 Question Id : 54062614953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 &F 91 'SaR1aRadd UeR' &1 Yl 3arer 67
Options :

1. # Tgdldd USRR

2. % HEEAR USR

3. ¢ fdesdl UGR

4. % UICdR UBR

Question Number : 163 Question Id : 54062614954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List — I of mountain building theories with List — II of geographers and select the correct answer from the given options.



ListI List-IT
5 Sliding Continent i | Kober
Theory
b Thermal Contraction Tl
Theory
% Geosynclinal Orogen i [y
Theory
Thermal Convection -
¢ | Cnrent Theory v | Holmes

Options :

1. # a-i, b-ii, c-iii, d-iv
2. ® a-ii, b-i, c-iv, d-iii
3. # a-i, b-iv, c-iii, d-ii
4. ¥ a-iii, b-ii, c-1, d-iv

Question Number : 163 Question Id : 54062614954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gad At Rigidl & G - 1 67 WEaadrst ot gt - 119 am & R 3T T fawed § 9 98 SR &1 98- Sifo |



I -11
fergoT (FemsfEm)
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forara

Options :

1. * a-i, b-ii, c-iii, d-iv
2. ® a-ii, b-i, c-iv, d-iii
3. ¥ a-i, b-iv, c-iii, d-ii
4. ¥ a-iii, b-ii, c-i, d-iv

Question Number : 164 Question Id : 54062614955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are correct regarding vertical sub-surface cross section of hydrologic zones?

I. Zone of aeration is the topmost zone lying immediately under the surface of the earth.
II. The surface separating the zone of aeration from the zone of saturation is called as water table.
II1. The zone of confined water provides an important source of water in arid and semi-arid regions.

Options :

1. # Tand II

2. % Only III

3. % Il and III
4. % 1, 1l and III



Question Number : 164 Question Id : 54062614955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i Sy & A S /A o &3 & SH@ieR IU-Idg ig o+ & IR Gel /82

1. A1 ST Gt Pl HAg & Sieh el FRUT o SR ] & Tl &
1. 9T H8d &1 UdW Hed I Gy HR- dlell Udg ﬁﬂﬁﬂwm»&de gl STl g |
111, TR ST HSd YSh qUT 37ERh &3 & I BT U T2 i UG HRel 6|

Options :

1. % 194111

2. % Had I
3. % [ dUTII
4. ¥ 1, 11 dUTIII

Question Number : 165 Question Id : 54062614956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is correct regarding vertical distribution of salinity in the oceans?

Options :

1. #® Salinity decreases with depth in high latitudes due to the presence of dense water at the bottom.

2. ¥ Salinity of the oceans increases in mid-latitudes up to the certain limit and thereafter starts declining.
3. # Equatorial regions are characterised by high salinity due to excessive rainfall.

4. % There is a periodical trend of increase or decrease of oceanic salinity with depth.

Question Number : 165 Question Id : 54062614956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HENTRI & 99Ul & S @MeR [AaRu & Ty & SF 1 U 981 82

Options :

1. % T IR O UM &1 SURUFRT & HRUT I 1&=1 H Tex18 o |1y A9UIal ¢ Sl ¢ |

2. ¢ -SRI H TG B! AquidT 3 i T 0 96 oid § 3R 39S ale 39H TR1ae I 81 o7l 6|
3. % YNERTY &F1 B UgaH AT a8l & HRUT 3o daurdl 4 gt &




4. ® TGI8 & Y TG A9UIdT H i a1 HH! DI U AP Ui gl

Question Number : 166 Question Id : 54062614957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Considering the distribution of fresh water on the earth, which of the following is/are correct?

(I) Groundwater — 29.9 percent
(IT) Glaciers — 68.7 percent
(IIT) Lakes — 2.5 percent

Options :

1. % Only I

2. % Tand II

3. % Il and III
4. % I, 1I and III

Question Number : 166 Question Id : 54062614957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gedt R WS Ut & faaRur Y er A wad g, Rl 8§ 4 o 9@ wel 3/

(1) YfATd o — 29.9 Ufcr=rd
(1) UG - 68.7 Ufard
(I11) ST — 2.5 Tfa=rd

Options :

1. % Had 1

2. 1T I

3. % I dUTIII
4. % 1 [ dYUTIII

Question Number : 167 Question Id : 54062614958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If out of 200 units of solar radiation reaching the outer atmosphere, 4 units are reflected by earth’s albedo, 38 units are absorbed within the
atmosphere, 38 units are received as direct radiation, 46 units are received as diffused radiation and 10 units are received as scattered radiation,
then what unit of effective solar radiation is actually absorbed by atmosphere and earth’s land-sea surface?

Options :

1. # 126 units
2. % 122 units
3. % 132 units
4. % 94 units

Question Number : 167 Question Id : 54062614958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i I argHee & UgeH aTel IR AR 3t 200 SHTSAN F I, 4 SHTS gt & ST gRT IRIaRid o1 S 8, 38 313l argHeSd &
iR Sa=Nfd 1 el 3, 38 Sh13al Ude fafdrur o U H ultdaﬁwlcﬂ%, 46 SHTST AR fAfhR01 B U T YT 1 Silall § Tl 10
Wﬁ@ﬁ%%ﬁﬁwaﬁaﬁ%ﬁuw@?mﬁw gPTs dRAld® ¥ I agHSd 9UT Jedt Bt YH-Is gdg
SRT 3TN ?

Options :

1. % 126 3BT
2. % 122 3HT3AI
3. ¢ 132 3H13Al
4. % 94 SHTSN

Question Number : 168 Question Id : 54062614959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following group of lakes is correctly sequenced in the ascending order of the amount of salinity present in them?
Options :

1. #* Dead Sea, Great Salt Lake, Lake Van

2. % QGreat Salt Lake, Dead Sea, Lake Van

3. #* Lake Van, Dead Sea, Great Salt Lake

4. % Dead Sea, Lake Van, Great Salt Lake



Question Number : 168 Question Id : 54062614959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 iial & o9 1 94 399 IUT Taurd &t AT & 3RIg! HH H el &7 ¥ SIHHd 82
Options :

1. % S8 I, Uc Ilee Siid, 9

2. ¢ J¢ Ulee Yid, 38 Y, o Sitd

3. % g id, S8 1, e Iiee did

4. % ST, 9 Sid, Uc Alee S

Question Number : 169 Question Id : 54062614960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is/are correct about relative humidity?

I. It measures how close a given parcel of air is to saturation at a given temperature.
II. Minimum relative humidity is reached during the morning hours.
II1. It is the ratio of the mass of water vapour present in a unit mass of moist air.

Options :

1. ¥ Only I

2. % Il and III
3. % Tand II

4. % I, 1I and III

Question Number : 169 Question Id : 54062614960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferEd I A &9 9r/A HuF Frie sTear » IR & I8 2/

. I8 AU § B U ag W€ U dTudH A=y IR it & foa (e g1
1. <gAdH T SISl UId:HTd &b SR gidl gl
111 T8 3% a1 & SPhTs SoaHH B JUFYd STd a1 & G T 3UTd gia 5 |

Options :




1. ¥ Had I

2. ® [IAYTIII
3. % QYT

4. % 1 11U

Question Number : 170 Question Id : 54062614961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R):

Assertion (A): Stratosphere layer of atmosphere is preferred to fly aeroplanes.
Reason (R): Stratosphere layer is relatively stable and characterised by vertical movement of air.

In the context of the above two statements, which of the following is correct?
Options :

1. ¥ (A) is correct, but (R) is wrong.

2. # (A)is wrong, but (R) is correct.

3. % Both (A) and (R) are correct and (R) explains (A).

4. % Both (A) and (R) are wrong.

Question Number : 170 Question Id : 54062614961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I S Y RRu MU §, 58 ¥ T &1 3HfNHU (A) 3R THR B HRUN(R) & U H qad (61 T 6:
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Options :

1. ¥ (A) T&1 g, Afdh (R) T 5|

2. % (A)TTeId 8, A (R) TS B

3. % (A)TUT(R) SFI Y&l 8 IUT (R), (A) BT TR FRl §




4. % (A)TU(R) ST TTAd &

Question Number : 171 Question Id : 54062614962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are correct about Chinook winds?

I. These are local vertical winds and largely influence the weather conditions of the affected areas locally.
II. These winds are known by the name of ‘foehn’ in the United States of America.
II1. Chinook winds are also called ‘snow eater’ as the snow present on ground surface melts due to sudden rise in temperature.

Options :

1. ¥ I and III

2. % Only II

3. % Tand II

4. % [, Il and III

Question Number : 171 Question Id : 54062614962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fergep ya & R # Fafafed & 9 o1 /8 Sy 181 8782
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Options :

1.« TdYTIII
2. % Had Il
3.% 1dUTII

4. % 1 [ dYUTIII

Question Number : 172 Question Id : 54062614963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Match List — I of mountains with List — II of location and select the correct answer from the given options.

List-I List-IT
a | Green Mountain i | Nepal
b AmaDa_blam ii | South Africa
Mountam

United States of

¢ | Table Mountain iii :
America

Rainbow . :
d Mountain b | i

Options :

1. # a-i, b-ii, c-iii, d-iv
2. % a-ii, b-1, c-1v, d-iii
3. % a-i, b-iv, c-ii, d-iii
4. ¥ a-iii, b-i, c-ii, d-iv

Question Number : 172 Question Id : 54062614963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tdd! &1 Il - 1 BT R D1 G - 11 T &2 947 iU U fawed! # ¥ 98! 3R &1 994 Diforg|

-1 -1
a | gU9ad i | FA9rer
b | 3THAT ST T4 | ii | EE0T 3T
c | g el yad il | FYFd T HAHT
d | Seuey 9od iv | =i

Options :

1. # a-i, b-ii, c-iii, d-iv



2. ® a-ii, b-i, c-iv, d-iii
3. ¥ a-i, b-iv, c-ii, d-iii
4. ¥ a-iii, b-i, c-ii, d-iv

Question Number : 173 Question Id : 54062614964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of dispersal of animals involves mass exodus?
Options :

1. # Anthropogenic dispersal

2. # Seasonal dispersal

3. % Forced dispersal

4. ¥ Rapid dispersal

Question Number : 173 Question Id : 54062614964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & I {6y TeR & SHeR] & aRkaur & aifed Fiu= i g2
Options :

1. % HHged gRayur

2. % T gRemor

3. % 3RATHIAD (WBIES) uR&qur

4. Za UiRamor

Question Number : 174 Question Id : 54062614965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most extensive kingdom of all the floral kingdoms?
Options :

1. % Paleotropical region

2. % Neotropical region



3. % Boreal Region
4. ¥ Cape region

Question Number : 174 Question Id : 54062614965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & & o1 a1 g g I H Yol A 9 82
Options :

1. % RI-IUG ey [@fcreimte) &3

2. % 9-IUBfesdiT (A3nNUea) &x

3. ¢ Siga &

4. % HU A

Question Number : 175 Question Id : 54062614966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A particular category of physical systems, consisting of organisms and inorganic components in a relatively stable equilibrium, open and of
various sizes and kinds is defined as

Options :

1. # Ecosophy
2. ¥ Ecosystem
3. # Biome

4. ¥ Biodiversity

Question Number : 175 Question Id : 54062614966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R AT SMHRY 3R USRI, endd RR TAdeddl # oiidl 3R SPe-d gchi 9 gad, Hifde gonferdl &1 T faviy Juft &1
& = § gRHTiYd foar T g

Options :

1. % UIRIRYfADT (FHIFT)

2. ¢ UIRIRYfAD =




3. % gIOH
4. % 9q fafqedr

Question Number : 176 Question Id : 54062614967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following periods was characterised by the first appearance of vertebrate animals?
Options :

1. ¥ Ordovician period

2. % Cambrian period

3. % Miocene period

4. # Triassic period

Question Number : 176 Question Id : 54062614967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad o I ford &1d ! HRITD! Sigedl Bl Ugal SURRITT I Uga™=T T 412
Options :

1. ¢ 3HTSiaRr Brat

2. % HIY BT

3. % oI b1

4. % FA3MRYD BT

Question Number : 177 Question Id : 54062614968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Californian Mediterranean biome, the shrub community is known by which name?
Options :

1. ¥ Fynbos shrubs

2. % Maquis shrubs

3. % Chaparral shrubs



4. ¥ Malle shrubs

Question Number : 177 Question Id : 54062614968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR & YHEEIRIT W §, 1St 99/ &I fodg 91| I ST ST /2
Options :

1. % el gfean

2. % Tifey gfsar

3. ¢ IR Sfsar

4. % ool gfsar

Question Number : 178 Question Id : 54062614969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Considering the productivity of ecosystem, Net Primary Production (NPP) is
Options :

1. # Total energy produced — Energy lost through respiration

2. ® Gross Primary Production (GPP) + Total energy produced

3. # Gross Primary Production (GPP) / Total energy produced

4. ¥ Gross Primary Production (GPP) — Energy lost through respiration

Question Number : 178 Question Id : 54062614969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OIRTUfIT I Bt SdTedmal & & § Tad gT, Fad uuflie e @didh . gidrgl
Options :

1. % JACd $d Sl — 4T & H1HH I 5 §8 Soll

2. % Hd YIUHH I (S + IdTad $d SHoll

3. % gohd Ui IdTe (S / Sarfad $d SHoll

4. ¥ qHA YIS I (ST — 499 & HIHH I A5 §8 SHoll




Question Number : 179 Question Id
Orientation : Vertical

: 54062614970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
In which of the following periods, origin and colonization of plants on land surfaces began?

Options :

1. # Carboniferous period

2. % Silurian and Devonian period
3. #® Precambrian period

4. ¥ Cretaceous period

Question Number : 179 Question Id
Orientation : Vertical

: 54062614970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 ford wra 8, Y &1 9ag R W4l &1 SR 3R SuHaRAHRl Y= gom

Options :

1. ® DHEHHY BId

2. ¢ RIgRE quT Saifg ora
3. % UibfErad sra

4. % PHICIT HId

Question Number : 180 Question Id
Orientation : Vertical

: 54062614971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is one of the biodiversity hotpots found in India?

Options :

1. # Eastern Ghats

2. ¥ Indo-Burma

3. % Deccan Plateau
4. # Gujarat Plains

Question Number : 180 Question Id

: 54062614971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFrafafEd § Q& § HRd H UIe §H aTel oid fafaerar giewdic § 9 e g2

Options :

3. % Gahd B UBR
EN
4. % TORId & HaH
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Question Number : 181 Question Id : 54062614972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the phases of biotic succession?
Options :

1. # Phase of migration

2. % Phase of reaction

3. # Phase of nudation

4. ¥ Phase of adjustment

Question Number : 181 Question Id : 54062614972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafifead o ¥ 19 1 Sidia 3FHHUT & TRl & F us T8 82

Options :

Question Number : 182 Question Id : 54062614973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of the availability of organic matter, the heterotrophic animals are classified into which of the following three categories?
Options :

1. ¥ Saprophytes, Parasites, Holozoic

2. # Autotrophs, Microorganisms, Saprophytes

3. # Parasites, Saprophytes, Zoophyte

4. % Zoophyte, Holozoic, Parasites



Question Number : 182 Question Id : 54062614973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTD TSI BT JUTIAT B YR TR TIoHast Sigaft & FafaRad & 9 far i 2forl & arffed fear mrge

Options :

1&@%(@%@%@@@%

Question Number : 183 Question Id : 54062614974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Monoclimax theory about the nature of the climax vegetation states that
Options :

1. ¥ regional climate is the dominant control of climax vegetation.

2. # habitat is not always in equilibrium with the ecosystem.

3. # many climax communities can be developed from any climate region.

4. % destructive and constructive activities of man affect climax vegetation.

Question Number : 183 Question Id : 54062614974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RABY IR DI UHd & IR H TR (AHgasia) Rgidsedigfd |
Options :

1. v &A1 Sqarg aRANG Y g &1 U a0 g

2. % Ugiary gaRT U dF & W1 JHgeddl § gl gidl &

3. % Py IRAHY THer! @ bl 1 Sraarg &7 3 fawRid fasar o 9bar g

4. % TS D! fARIGRIGUT TaTHS TATa1al TRAGY a-wafd & gHIfdd Sl o




Question Number : 184 Question Id : 54062614975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Biosphere consists of which of the following given components?

I. Organic component
II. Abiotic component
I1I. Energy component

Options :

1. ® Only I

2. % Il and III
3. % TIand III

4, 1,11 and 11T

Question Number : 184 Question Id : 54062614975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fid AUSS (@G RR) B Fafafed § 9 @ J ges i 82

L. B Uch
1. 3ifd® Uch
11 Sl Uch

Options :

1. % a1

2. % J1 dYUTIII
3. % T dYTII
4.« 111 dYTIII

Question Number : 185 Question Id : 54062614976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List — I of grassland with List — II of continent and select the correct answer from the given options.



List-I List-II
a | Veld i | Australia
b | Prairies ii | North America
¢ | Pampas iii | Africa
d | Downs iv | South America
Options :

1. * a-iv, b-ii, c-iii, d-i
2. % a-ii, b-1, c-1v, d-iii
3. # a-i, b-1v, c-iii, d-ii
4. ¥ a-iii, b-ii, c-iv, d-i

Question Number : 185 Question Id : 54062614976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N & e &I ot - 1 BT HeTgId &1 Gl - 11 ¥ e &2 a1 3T Y fawd! & 3 98! SR &1 994 Sifog|
-1 -1

a |des i | afreeforar

b |oudr i | Iy AN

c | 9uTH iii | 3mhreT
R iv | gf&or AR
Options :

1. * a-iv, b-ii, c-iii, d-i

2. % a-ii, b-1, c-1v, d-iii



3. # a-i, b-iv, c-iii, d-ii

4. % a-iii, b-ii, c-iv, d-i

Question Number : 186 Question Id : 54062614977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements regarding ecological niche is/are correct?

I. Law of competitive exclusion states that no two species will occupy the same niche and compete for exactly the same resources in the same
habitat for very long.

II. More dominant species occupy extensive and broader ecological niche in comparison to less dominant species.

III. Ecological niche is not affected by the population resource variables.

Options :

1. # Tand III

2. % Only IT
3.% Tand II

4. % T 1 and IIT

Question Number : 186 Question Id : 54062614977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

uiRfRufae fbd & grasf # Fafafed & 9 o 918 3 98 8/6?

1. Teff 3{gasH &1 ST Hedl ¢ [ Bis H &l Uofaar T Fdhd & T80T T8l i aul U gt uaiar J 98 S & g 9gd @
Y deb Ufaeay el |

I1. FH THTAT TSTTfad & ga H 3iferes guTe vronfaat fagd aut e uifRufaes Hdd Jgur &t o |

111, TR Fehd, SHReaT TTeH TR | gHTfad T et 8 |

Options :

1. % 19UTII

2. % Had Il

3.¢ 1T

4. % 1 11dYUT I




Question Number : 187 Question Id : 54062614978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An intergovernmental treaty called the Ramsar Convention is based on
Options :

1. * Drainage system

2. # Climate

3. ¥ Wetlands

4. % Wildlife

Question Number : 187 Question Id : 54062614978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR H-a%M AHS Th SR WA AT W iR 5l
Options :

1. % 3[Udrg Yurrel!

2. % Sddiyg

3. ¥ SAHIYH

4. % FIq

Question Number : 188 Question Id : 54062614979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following mountain ranges of Himalaya are separated by Main Boundary Thrust (MBT)?
Options :

1. ¥ The Lesser Himalaya and the Shiwaliks

2. # The Greater Himalaya and the Lesser Himalaya

3. ¥ The Trans Himalaya and the Shiwaliks

4. ¥ The Lesser Himalaya and the Trans-Himalaya

Question Number : 188 Question Id : 54062614979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ferTea ot Fofoied & 9 ®F I udd saam qeg uifiAT &89 (MBT) §RT 3e &1 T4t 82
Options :

1. ¢ oY T T fRrarferd

2. % HgTA fguTera aur g fgumera

3. % Y fgdrery au1 fRarfes

4. % oY fgurerg qur ¢y fedred

Question Number : 189 Question Id : 54062614980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Alluvial soil is mainly found in which of the following regions?
Options :

1. # Hills of Assam

2. #® Mid-latitude zone of Himalaya

3. % Western Tamilnadu

4. ¥ Indus-Ganga-Brahmaputra plains

Question Number : 189 Question Id : 54062614980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ale HaT gerd: FafaRad # 3 fosy &= 7 urs ST 82
Options :

1. % 39H P ygISAl

2. % TRHTIY DT A ST DiceY

3. % Uiyl aftrerg

4. ¢ FEYTISEIYT & T

Question Number : 190 Question Id : 54062614981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the Western Ghats, Jog falls is a waterfall on the river.
Options :

1. % Krishna

2. % Sharavati

3. % Periyar

4. ¥ Godavari

Question Number : 190 Question Id : 54062614981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy e SN Bl Tl R UG IRATR|
Options :

1. ® oW

2. ¢ RREdI

3. % IR

4. % TETRY

Question Number : 191 Question Id : 54062614982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following characteristics of laterite soil is correct?
Options :

1. ¥ Rich in Iron

2. # Less acidic in higher areas

3. % Abundance of organic matter

4. % Poor in aluminium

Question Number : 191 Question Id : 54062614982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeRTze gar o Fafafed & @ ot faxar gt 32

Options :



1. ¢ 3RRA Y IRP

2. % I &7 § &Y 3l
3. % BHIEHD UGl ot UgRal
4. % Ygaiga o sroafedr

Question Number : 192 Question Id : 54062614983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bhakra dam is situated on which river?
Options :

1. # Chambal

2. # Ghaggar

3. % Satlyj

4. % Gomti

Question Number : 192 Question Id : 54062614983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RS §1Y fhyg Tt R fRa 82
Options :

1. % 99d

2. ® YR

3. ¢ gddol

4. % TN

Question Number : 193 Question Id : 54062614984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the highest peak of the Kumaun Himalaya?
Options :

1. % Kamet



2. % Nanda Devi
3. # Kedarnath
4. % Trisul

Question Number : 193 Question Id : 54062614984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed 7 3 o1 @ $ars; ferad o1 gad St 9ict o2
Options :

1. % B

2. ¢ Hal gl

3. % DHARAY

4. % Bqd

Question Number : 194 Question Id : 54062614985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The famous delta of Sundarban is found in
Options :

1. # Tropical evergreen forest

2. % Alpine forest

3. ® Dry Deciduous forest

4. ¥ Mangrove forest

Question Number : 194 Question Id : 54062614985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G o1 URTG Secl ERICIRE I
Options :

1. % IUGicddTg TaIagR o=

2. % 3fcUlg—d dd



3. % Y& YU a1
4.« BG T

Question Number : 195 Question Id : 54062614986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The dynamic concept about the origin of monsoon was put forward by
Options :

1. # Kendrew

2. ¥ Flohn

3. % Halley

4. % Kant

Question Number : 195 Question Id : 54062614986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ®f SR b IR H AP S@YROT_ GRTATHEA 371 718 |
Options :

1. % $a3

2. v TRilg

3. % gl

4. % HId

Question Number : 196 Question Id : 54062614987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Andaman and Nicobar islands are separated by
Options :

1. # Radcliffe line

2. % Ten degree channel

3. % Durand line



4. # Eight degree channel

Question Number : 196 Question Id : 54062614987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JSAMARPEREUIIE RIS f[PU U]
Options :

1. % YSfaam @1

2. ¢ 39 {3 o a

3. % e

4. % 3176 f&ht o=t

Question Number : 197 Question Id : 54062614988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is one of the dominant trees of the tropical moist deciduous forests?
Options :

1. # Deodar

2. % Rosewood

3. ¥ Teak

4. % QOak

Question Number : 197 Question Id : 54062614988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 § @ a1 Swresfesdha 70 yofurd ot & U gaif 7 & T 82
Options :

1. ® qdER

2. % TRM

I dica

4. % Rgdqd



Question Number : 198 Question Id : 54062614989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following soils has high water retaining capacity?
Options :

1. # Laterite soil

2. ¥ Black soil

3. # Desert soil

4. % Mountain soil

Question Number : 198 Question Id : 54062614989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 3 frg gar o ofd ¥R & 31 B 22
Options :

1. % TR0 Hal

2.« DIl Hal

3. % 9l gal

4. % qdd HaT

Question Number : 199 Question Id : 54062614990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The colour of red soil is due to the presence of
Options :

1. # Calcium Carbonate

2. ¥ Ferric Oxide

3. % Phosphorous

4. % Aluminium oxide

Question Number : 199 Question Id : 54062614990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ara it e 3 o1 JUFRY & HRU ST 3|
Options :

|. % BIcRIH PBIEHC

O\

2. ¢ BRH AHSS

3. % BRIRIY
4. % gAY ieags

Question Number : 200 Question Id : 54062614991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following assertions is NOT correct about the Cold Desert of India?
Options :

1. ® It is surrounded by Zanskar mountains in the south.

2. # River Indus flows through this region.

3. # It lies in the rain shadow area of the Himalaya mountains.

4. ¥ This region has enormous variety of saline lake beds.

Question Number : 200 Question Id : 54062614991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & fd Tewid & IR & Fafafad & 9§ o a1 siftiewys a8 78 32
Options :

1. % Tg Sfer ¥ 9iRh uad 9 feRT g3 & |

2. % Riey=Tcl 59 & I G I8l o

3. * 7g feTeg uddi & gfy-omar a9 § Rd 7|

4. ¢ 39 &9 A 901 (Jars) il &t fazna fafaeudr g1
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Question Number : 201 Question Id : 54062614992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combinations of ‘River-Tributary’ is correct?
Options :

1. ¥ Kaveri - Hemavathi

2. * Godavari - Panchganga

3. * Narmada - Betul

4. # Jhelum - Parvati



Question Number : 201 Question Id : 54062614992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS Bt TP A4 BT FHfaRad T T HH-I1 o T8l 87
Options :

1. ¢ DI - GHI

2. % TliGrasy - =R

3. % el - o

4. % JAH - gl

Question Number : 202 Question Id : 54062614993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Koppen’s classification of Indian climate was based on which of the following consideration(s)?

I. Mean monthly temperature
II. Mean annual rainfall
II1. Mean monthly rainfall

Options :

1. # Tand II

2. ® Il and III
3. % Only I

4. % 1, 1I and III

Question Number : 202 Question Id : 54062614993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI BT YR STarg o1 FeR0r (HafRad 8 ¥ for foar/faar! o snetia um

1. 3Td 1 aaHH
11. 3 d I auf
111 37 gd ARy auf



Options :

1. % 1dUTII

2. % [1dYTHI
3. % Bad 1

4. ¢ 1 11 dYUTIII

Question Number : 203 Question Id : 54062614994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The National Forest Policy 1952 classified the forests of India into which of the four given categories?
Options :

1. ¥ Protected forests, National forests, Village forests, Tree lands

2. # Protected forests, Private forests, Village forests, Broad-leaf forests

3. # Unclassified forests, National forests, Commercial forests, Tree lands

4. # Protected forests, Village forests, Reserved forests, National forests

Question Number : 203 Question Id : 54062614994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 1 A 1952 F HRA & T 1 fobt <t 778 TR A0t & affepa fapam umo
Options :

1. ¢ TR o, T 9, T 99, & Y

2. % TRfed o=, fAsht a1, UTH o, st U=l a1l (TS elit) o=

3. % fffcpd a, AP g, arforfoyres o, g&f HfH

4. % TRI& I, TTH 9, 3{RI&T o, 1T o

Question Number : 204 Question Id : 54062614995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Flying squirrel’ is found in which of the following biosphere reserves?
Options :



1. ¥ Pachmarhi, Madhya Pradesh
2. # Kutch, Gujarat

3. % Nokrek, Meghalaya

4. # Gulf of Mannar, Tamil Nadu

Question Number : 204 Question Id : 54062614995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS W Rl FafaRad & 9 fory Siiarisd Retd & Urs St 82
Options :

1. ¢ UIHE, A Uex

2. % Dd, ToRId

3. % HIhp, AT

4. % TR B WISt g

Question Number : 205 Question Id : 54062614996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List — I of national parks with List — II of states and select the correct answer from the given options.

List-I List-1II

a ;?;tdlzia;laPmk i | Arunachal Pradesh
b Ezlé?:f;mk ii | West Bengal

c Eiﬁimpm iii | Madhya Pradesh




Options :

1. ¥ a-ii, b-iv, c-iii, d-i
2. # a-i, b-iv, c-ii, d-iii
3. # a-iii, b-iv, c-ii, d-i

4. ® a-iv, b-ii, c-iii, d-i

Question Number : 205 Question Id : 54062614996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RISTY I b1 G - 1 5T ATl i Gl - 11 Fea o T fu 7T faehedl # J el ST BT 99 Hiforu|
-1 -

STeTETaTET
a i | 3yTUTEer 92T

TS 3SATA
b i | 9f¥eE Femer
TG 35T

c i iii | FeT F9r
3T

AHGHT
qEIT ST

Options :

1. ¥ a-ii, b-iv, c-iii, d-i
2. ® a-i, b-iv, c-ii, d-iii
3. ® a-iii, b-iv, c-ii, d-i

4. ® a-iv, b-ii, c-iii, d-i



Question Number : 206 Question Id : 54062614997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are correct about the season of retreating monsoon in India?

I. The temperature during the season of retreating monsoon is uniformly high i.e. about 25 degrees celcius in northern India.
II. It moves further southward by the beginning of December and merges with the equatorial low.
I11. The south-west monsoon begins to retreat from southern India by the last week of October.

Options :

1. * Il and III
2. % Only I
3.9 Tand II

4. % [, Il and III

Question Number : 206 Question Id : 54062614997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR § FAdd=t A & A & aR § FefifEd 8 3 o9 91/ sy 98 8122

1. T AR & W & SR IT9HH SHH $9 9 3 811 € M1 St HRd H a4 25 feilt Sfcaa gan g
1. I8 fEHeR P YB3M1d b 10 BT 3R TGl § adT HHERT 5 & 91 faeli= gl s g |

111, 3(FEER & 3 g T fR01-ufd| AYH SfRior 4R I 1Y g T SR ST |

Options :

1. % I aYTII

2. % Had

3. ¢ 1Y

4. % 1[I QYT

Question Number : 207 Question Id : 54062614998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R):



Assertion (A): The upper air low pressure westerly jet streams cause no change in general weather.
Reason (R): The upper air high pressure and anticyclonic conditions are developed in the troposphere.

In the context of the above two statements, which of the following is correct?
Options :

1. ® (A)is correct, but (R) is wrong.

2. % (A) is wrong, but (R) is correct.

3. ® Both (A) and (R) are correct and (R) explains (A).

4. ® Both (A) and (R) are wrong.

Question Number : 207 Question Id : 54062614998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I S Y RRu MU §, 58 B T &1 3HfUHYT (A) 3R THR B HRUN(R) S U H qad [Ha1 T 6:

HTYFHYT (A): SR a1 (7 g19 ufEdt Sie W, 9@ 3| § ®1s URddd Tg) sl g |
BRU (R): &HAST 7 SHW) I I= 216 auferashard e fapRid gt 81

SR & Y & e &, Fufafad F 3 s T agt 22
Options :

1. % (A) T&1 g, Afh (R) T G|

2. ¥ (A) T 8, A (R) TS B

3. % (A)TUT(R) GHI el & IUT (R), (A) BT TS T §
4. % (A)TYUT(R) THI TTaTd ©

Question Number : 208 Question Id : 54062614999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following groups of rivers is correctly sequenced in the ascending order of their length in kilometres?
Options :

1. ¥ Beas River, Ravi River, Yamuna River, Ganga River

2. # Yamuna River, Brahmaputra River, Chenab River, Ganga River



3. % Ganga River, Indus River, Brahmaputra River, Ravi River

4. ® Chenab River, Beas River, Brahmaputra River, Yamuna River

Question Number : 208 Question Id : 54062614999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifaa # & Ffegl o1 o 91 9gg STo! fhamieR § e & 3RIg! A § 8l 71 3 SIh it 82
Options :

1. ¢ oA T, et e, T A, e A

2. % g A4, SIEIYA Adt, e A, i d

3. % T Y, Ry 7, Serge =, It

4. % To1q =1d], SN ¢!, § YA A, g1 -]

Question Number : 209 Question Id : 54062615000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries has the largest rail network in the world?
Options :

1. ® China

2. ® India

3. ¥ United States of America

4. ® Russia

Question Number : 209 Question Id : 54062615000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed o 9 fog Su # fay &1 9e9 99130 Acdd 82
Options :

1. % 4

2. % YRd

3. ¢ g T SARBT




4. %Y

Question Number : 210 Question Id : 54062615001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Airport Authority of India (AAI) constituted in
Options :

1. % March 1990

2. # January 1985

3. % April 1995

4. % June 1997

Question Number : 210 Question Id : 54062615001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR fOHT o IR0l (TUSHTS) 16 Hgam ol
Options :

1. % 9 1990

2. % SFR] 1985

3. ¢ 3T 1995

4. % 1997

Question Number : 211 Question Id : 54062615002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many Export Processing Zones (EPZ) has been identified by the government of India?
Options :

1. # Six

2. % Seven

3. # Eight

4. % Ten



Question Number : 211 Question Id : 54062615002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA WHR gRT fa- fFaid TepHur &3 SUieis) &t uga™ &1 73 82
Options :
1. # &g
2. ¥ [d
3. # 3o
4. % o

Question Number : 212 Question Id : 54062615003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shifting cultivation is known by which name in northeast India?
Options :

1. * Kumari

2. % Dahia

3. * Bewar

4. % Jhum

Question Number : 212 Question Id : 54062615003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JaitR HRd H A Tt & b 78 I ST o1l 82
Options :

1. % AR

2. % gfea

3. % §aR

4. ¥ JH



Question Number : 213 Question Id : 54062615004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The only riverine major seaport of India is
Options :

1. # Port of New Tuticorin

2. ¥ Port of Kolkata

3. % Port of Kochi

4. % Port of Visakhapatnam

Question Number : 213 Question Id : 54062615004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR &1 THHTH Adl dc YIE §a8 gl
Options :

1. % Y IHDINA BT deME
2. ¢ HIABIII BT TGI8

3. % Pl BT SGATE

4. % fORETITH &1 dexTe

Question Number : 214 Question Id : 54062615005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was the first continent to be industralised?
Options :

1. # Asia

2. % North America

3. % Europe

4. ® Australia

Question Number : 214 Question Id : 54062615005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafaRad & I {6y UeTgiu &1 9ad ugd SHieiiieur gar um
Options :

1. % TlRm

2. % IR SARDI

3. RY

4. % Iffcfern

~

Question Number : 215 Question Id : 54062615006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which branch of agriculture deals with the cultivation of fruits, vegetable and ornamental plants?
Options :

1. # Apiculture

2. % Horticulture

3. # Sericulture

4. % Mariculture

Question Number : 215 Question Id : 54062615006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HN BT B T AR B, Tl 3R TeTract uelf ot Wt J Wafdd g2

Options :

1. % AYHGE! grea=

3. % YW & Plel BT UraH (A eeR)
4. % AR HY

Question Number : 216 Question Id : 54062615007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which country has the largest postal network in the world?
Options :

1. # Japan

2. # China

3. ® France

4. ¥ India

Question Number : 216 Question Id : 54062615007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3y & fra S &1 9ay 91 816 Aedd 82
Options :

1. # S

2. % 9

3. % Y

4. ¥ YRd

Question Number : 217 Question Id : 54062615008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India is the largest producer of which of the following industries?
Options :

1. ¥ Jute textile

2. # Uranium Industry

3. % Copper Industry

4. % Silk textile

Question Number : 217 Question Id : 54062615008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ffafad 7 3 g I &1 Je9 981 SUGH 82

Options :



1. ¢ ¢ HUST

2. % TR I
3. % PHIR I
4. % I HUYFT

Question Number : 218 Question Id : 54062615009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarters of India’s North-Western railway zone is situated in
Options :

1. % Gorakhpur

2. % Kolkata

3. # Lucknow

4. ¥ Jaipur

Question Number : 218 Question Id : 54062615009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & ITR-UTHH Ieid &5 BT JATe™ A fRERI
Options :

1. % TREPR

2. % DIl

3. % G1SH

4. ¥ YU

Question Number : 219 Question Id : 54062615010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following crops is grown in the kharif season?
Options :

1. ¥ Maize



2. # Barley
3. ® Wheat
4. % Gram

Question Number : 219 Question Id : 54062615010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafeied § 4 &9 O o T 99T & IS Sdl 82
Options :

1. ¥ Hdd[

2. % S

3. % 75

4. % T

Question Number : 220 Question Id : 54062615011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Great Lakes Region of United States of America majorly comprises which of the following industries?
Options :

1. # Aircrafts

2. % Tron and steel

3. % Diamond cutting

4. % Fertilizers

Question Number : 220 Question Id : 54062615011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o4 SARST & Je v & H fFafaRad § § F 91 SN UgE ¥ 9 M 82
Options :

1. % fqae

2. ¢ Q8T 3R S




3. % gR&B P
4. % IRD
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Question Number : 221 Question Id : 54062615012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In economic structure, the quaternary sector activities includes which of the following?
Options :

1. # Goods and services

2. % Agriculture

3. % Research and information

4. % Manufacturing

Question Number : 221 Question Id : 54062615012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 TR B, Trquimeres & o ifafafeat # fafafad o @ o o e 32
Options :

1. % gX¢ 3R Ay

2. % By

3. THYT JUT JIAT

4. % fafmior

Question Number : 222 Question Id : 54062615013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries is the leading producer of coal?
Options :

1. # Australia

2. # India

3. % China

4. % Russia

Question Number : 222 Question Id : 54062615013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafofad # § 19 91 U HIaa &1 THE IATGH 82

Options :



1. % 3ficfer
2. % YRd
3. ¢ T

4. %Y

Question Number : 223 Question Id : 54062615014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Road transport in India faces a serious problem of
Options :

1. # scarcity of manpower

2. # lack of check posts

3. % excessive side amenities

4. ¥ mixed traffic

Question Number : 223 Question Id : 54062615014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H TS& uRkdgd Bt TR THT BT IHAT BT B
Options :

1. % SHRIfGd Bt B

2. % P URE Bl HHI

3. % 3IUh Uy I GIaUTsl
4.  Tlfsa gramard

Question Number : 224 Question Id : 54062615015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first three leading producers of uranium are
Options :

1. * Brazil, New Zealand, France



2. ¥ (Canada, Australia, Kazakhstan
3. # Iceland, Norway, India
4. #% South Korea, Japan, Uzbekistan

Question Number : 224 Question Id : 54062615015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & Tgd A UHE IAeH gl

Options :

1. % S, elids, i

2. ¢ HTS], IR TQr, BT
3. % MRS, Ald, YR

4. % IEUT HINTT, STUH, el &

Question Number : 225 Question Id : 54062615016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given Von Thunen’s economic rent formula, ‘k’ represents which of the following?

R=E(p-a) - Efk

Options :

1. ¥ Distance from market

2. % Output per unit of land

3. # Production cost per unit of commodity

4. ® Rent per unit of land

Question Number : 225 Question Id : 54062615016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7T i YA & e T G 1, 'k FafaRad & @ forgeT ufafafera sar g2

R=E(p-a) - Efk



Options :

1. ¢ IR I g

2. % Y &1 Ufd Shls TG

3. % X P! Ufd SHTS IdIG AT
4. % YN BT Ufd P15 A

Question Number : 226 Question Id : 54062615017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors does NOT influence the agriculture of any region?
Options :

1. # Topography

2. # Land tenancy

3. % High Yielding Varieties

4. ¥ Inheritance

Question Number : 226 Question Id : 54062615017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed o @ o9 91 BRae fh ot & ) BN B g T8 Pxar g2
Options :

1. % QICATHId

2. % YU HRABRI

3. % I JUS G arell fobed

4. ¢ faRT9d

Question Number : 227 Question Id : 54062615018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the objective(s) of second green revolution?

I. To increase the per-capita income of the farmers and to raise their standard of living.



II. To incorporate or emphasis the use of bio-technology.
II1. To become self-sufficient in staple food, pulses, oil seeds and industrial raw material.

Options :

1. % Only I

2. # Il and III
3. % Only II

4. % 1 Il and III

Question Number : 227 Question Id : 54062615018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea ¥ @ o 91/ gud) sfka sifa w1 TR

1. fpaml &1 ufd aafad o § g A1 3R 3 Sl WR &1 SR SSH|
I1. S1a-UT ! & IUIANT DI IMAS BT T 3 B Tg@ o1l
1. T Yo, gTdl, faag= 9T Sfieifies o 11a § SR =1

Options :

1. % Had I

2. % I dYUTIII
3. % had Il

4. 1 11 dYTIII

Question Number : 228 Question Id : 54062615019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List — I of route with List — II of national highway number and select the correct answer from the given options.



List-I List-IT

Jorabat- :

4 Shillong L | B
Uttar Pradesh -

b NH 6
West Bengal =
Srinagar-

= Kanyakumari b
B bore- .

d amanbore - 14
Nagpur

Options :

1. # a-ii, b-iii, c-i, d-iv
2. % a-ii, b-iii, c-iv, d-i
3. # a-i, b-iv, c-iii, d-ii

4. ® a-iv, b-ii, c-iii, d-i

Question Number : 228 Question Id : 54062615019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I D1 YT — 1 T AP ASTHN BT BT it — 11 et 3 SR fau 7T faeved] 7 4 el IR 1 70 Sifor |



a 1 |NH47

c iii |NH31
i i |
THAE- ’
d iv | NH 44

Options :

1. #* a-ii, b-iii, c-i, d-iv
2. % a-ii, b-iii, c-iv, d-i
3. # a-i, b-iv, c-iii, d-ii

4. # a-iv, b-ii, c-iii, d-i

Question Number : 229 Question Id : 54062615020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a village the net cultivated area is 1000 hectares and cropped area is 350 hectares and 550 hectares in the rabi and the kharif season
respectively. What would be the agricultural intensity of this village?

Options :

1. % 50 percent
2. % 90 percent
3. # 20 percent
4. % 65 percent



Question Number : 229 Question Id : 54062615020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%jﬁ'ragﬁﬁaa@?ﬁaa1ooo%a%u?aznmzT@\’raarr@ﬂmﬁmﬁwﬁm3somawssom%lw%ﬁww
)

Options :

1. % 50 gfa=rd

2. ¢ 90 Yfa=rd

3. % 20 Ufaerd

4. % 65 gfavrd

Question Number : 230 Question Id : 54062615021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List — I of agriculture revolution with List — II of product and select the correct answer from the given options.

List-I List-II
Blue : : :

a ) i | Fisheries
Revolution

b 3 ‘ > ) ii | Poultry and Eggs
revolution 2

g (o i | s

Revolution

Yellow - ;
d N iv | Petroleum

Options :
1. ¥ a-i, b-ii, c-iv, d-iii

2. % a-ii, b-1v, c-1, d-ii



3. # a-i, b-iv, c-iil, d-ii

4. * a-iii, b-iv, c-i, d-i

Question Number : 230 Question Id : 54062615021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Hifd DI el - 1 BT 3G D Pl - 11 Y A B a1 feU ¢ fdswed) & I 81 IR &1 99 Difod |
-1 -1

a | =frelr SIfer i | Al qrere

= Rre=0)

Tfer

c | el FfA iii | ferger

d | drefr wIfa iv | ggiferas

Options :

ii Wamai-s‘

1. ¥ a-i, b-ii, c-iv, d-iii
2. % a-i, b-1v, c-1, d-1i1
3. # a-1, b-1v, c-1ii, d-ii

4. % a-iii, b-1v, c-11, d-1

Question Number : 231 Question Id : 54062615022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rate of increase of the world’s population quickened after which year?
Options :

1. % 2000



2. * 1800
3. % 1900
4. % 1700

Question Number : 231 Question Id : 54062615022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farsy ot STeReT @1 gfg 1 o fovd 9 o 971G il 37
Options :

1. % 2000

2. % 1800

3.9 1900

4. % 1700

Question Number : 232 Question Id : 54062615023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of rural settlement is found in Asia?
Options :

1. ¥ Compact

2. # Dispersed

3. % Semi-sprinkled

4. ¥ Semi-compact

Question Number : 232 Question Id : 54062615023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR B {5 YR o1 Ireior s urs Sl 22
Options :

1. ¢ dgd

2. % URfa



3. % 3ref.foghifa @H-RBiew)
4. % 37¢f. dgd

Question Number : 233 Question Id : 54062615024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The model of urban morphology-‘The Concentric Zone Theory’ was proposed by .
Options :

1. # Robert Park

2. ¥ E.W. Burgess

3. % Homer Hoyt

4. ¥ Edward Ullman

Question Number : 233 Question Id : 54062615024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G SDHIND! BT led-Hbal diceay Rigiad  gR1 vRarfad fobam mam |
Options :

1. % IqC U

2. ¥ 3.3&g, T

3. % GIR BIAd

4, % TSIS IAHM

Question Number : 234 Question Id : 54062615025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country adopted the ‘One-Child Policy’ to discourage their population growth?
Options :

1. # Russia

2. # India

3. % Bangladesh



4. % China

Question Number : 234 Question Id : 54062615025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford <=1 A S1u-t ST i B gAITRd B b oY 'Teb sl 1 Hifer 3UTs?
Options :

1. % Y

2. % HRd

3. % giACE

4. ¢ I

Question Number : 235 Question Id : 54062615026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Regressive population, when plotted on a graph, produces a
Options :

1. # broad base pyramid

2. % regular tapering pyramid

3. ¥ narrow base pyramid

4. # convex pyramid

Question Number : 235 Question Id : 54062615026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GfATTH} SHEReT, 519 U6 W% H SMafRdd S St 8, T Idied ddl gl
Options :

1. % U YR fuRIfers

2. % {1Oid YU fIRIfTre

3. ¢ D10} YR RIS

4. % 3qUE fORIfTre



Question Number : 236 Question Id : 54062615027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following groups of countries is correctly sequenced in the ascending order of their population as per the 2016 UNO estimates?
Options :

1. # United States of America, Russia, China, India

2. ¥ Indonesia, United States of America, India, China

3. # Brazil, Indonesia, Bangladesh, China

4. ® Bangladesh, Russia, China, United States of America

Question Number : 236 Question Id : 54062615027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2016 & A STAM! & TR FHfARId H T <=0 BT DI T THG 30! e & ARIg HH H Tal o1 I SFIhiHd 62
Options :

1. % o Iy AR, &9, 9, URd

2. ¢ SSHRAN T 9 3AR®T, URd, 9

3. % STod, SSHIRMI, IFCTGR, T

4. % g, ¥4, I, Tgad oY AR

Question Number : 237 Question Id : 54062615028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factors affect the origin of rural settlement?

I. Fertile land

II. Building material
III. Dry land

IV. Favourable climate

Options :
1. #® Tand III
2. % ILIII and IV



3. % Tand IV
4. % LILII and IV

Question Number : 237 Question Id : 54062615028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fPrafifad & 9 & ¥ SRS Jreior sferl 1 I &) gHifad Hid 82

1. IS, Y
1. f=wor areh

111, &b YA
IV. 3Pl Wcidiyg

Options :

1. % 1dYUTIII

2. % ILIITTUT IV
3. % IIdUTIV

4, LILII ddT IV

Question Number : 238 Question Id : 54062615029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the optimum population theory, the optimum population is that which gives the
Options :

1. * minimum diminishing returns

2. % maximum output with less resources

3. % maximum income per head

4. ¥ minimum output per capita

Question Number : 238 Question Id : 54062615029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ZyaH SHReT RIGid & R, IV SR 98 § S oIk




Options :

1. % g9 gREHE Ufdhd

2. % S A & 1Y HAHaH IdTe
3. ¢ Ufd safad siftehdy i

4. % Ui Afdd AT IdTeH

Question Number : 239 Question Id : 54062615030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R):

Assertion (A): Migration has a direct bearing on the age composition.
Reason (R): Migration tends to be age selective which means the people in the age group of 15-30 years are more mobile than the people in the
younger and older age groups.

In the context of the above two statements, which of the following is correct?
Options :

1. % (A) is correct, but (R) is wrong.

2. # (A)is wrong, but (R) is correct.

3. % Both (A) and (R) are correct and (R) explains (A).

4. % Both (A) and (R) are wrong.

Question Number : 239 Question Id : 54062615030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I S Y RRu MU §, 58 ¥ T &1 3HfNHU (A) 3R THR B HRUN(R) & U H qad (61 T 6:

FUBUT (A): TaTI BT 31 T W FeT THTg IS |
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Options :
1. % (A) U8l g, Afpd (R) T &




2. % (A)TAd 8, Al (R) TE B
3. ¢ (A) TUT(R) GIFT &I 8 TUT (R), (A) BT RS BT g |
4. % (A)TYUT(R) FI 7700 B

Question Number : 240 Question Id : 54062615031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding ‘Demographic Transition theory’ is NOT correct?

Options :

1. # It is based on the hypothesis that the decline in mortality comes before the decline in fertility.

2. ¥ The first stage of demographic transition is characterised by declining birth rate and low death rate.

3. # This theory was put forward by W.S. Thompson and Frank W. Notestein in its original form.

4. ® This theory postulates that socio-economic transformation of a society takes place simultaneously with its demographic transition.

Question Number : 240 Question Id : 54062615031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS 1 HehHUT Rigia & Yae J FHfeiad H ¥ &IF 91 Sy 7Tad 82

Options :

1. % 8 39 URG eI IR 3R § for §g X & fiRTde Iavar & fRtae 9 ugd ot g
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3. % 39 RIGId &) S&Y, U9, Yo qul e S&g Al gRT 39 Hd U H U7 fosar 7 o |
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Question Number : 241 Question Id : 54062615032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thailand in South —East Asia is the buffer zone between the French Realm in Indo-china and the
Options :

1. * North-Eastern India

2. * Mediterranean African states

3. % British Empire in Asia

4. * Sino-Russian boundary in Mongolia

Question Number : 241 Question Id : 54062615032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Eforgd TRar A ursds, T YRA-AH IR ($6) &3 & o9, Th IR Hicay g
Options :

1. ® IR-YAf HRA

2. % YHINRIY 3{Which! I

3.  TRET A fafew Iy

4. % Tifern ¥ dH-=31 I

Question Number : 242 Question Id : 54062615033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If ‘GX’ is the G-scale value of a state, then what does ‘Rx’ represent in the given formula?

GX=log(z")

Options :

1. # Area of the earth

2. % Population size of state
3. ¥ Area of country

4. ® Circumference of the earth

Question Number : 242 Question Id : 54062615033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 'GX' fordlt T BT G-Thd A &, f AT U 3 H 'Ry &7 =1l 82

GX= 1ug(§)

Options :

1. % Q] T &A%d

2. % Y B STHIAT HTHR
3. ¢ X &1 &FHd

4. % g I gRY




Question Number : 243 Question Id : 54062615034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the last stage of the geographical boundary making?
Options :

1. # Identification

2. % Negotiation

3. # Delimitation

4. % Demarcation

Question Number : 243 Question Id : 54062615034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 8 @ o1 a1 diifere do Fafor &1 sifom wRor g2
Options :

1. # Ugd

2. % IRGTHU

3. % ORI

4. « HHiHA

Question Number : 244 Question Id : 54062615035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The McMohan line is a borderline between
Options :

1. # North America and South America

2. ¥ India and China

3. % North Korea and South Korea

4. ¥ Germany and France

Question Number : 244 Question Id : 54062615035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ApHE Xl P S B FAT DR
Options :

1. % IR SRt auT gfér smRkesr

2.« YR dUTdH

3. % JTR PHINAT qYUT SFEI0T ST

4, ® SHA qUT BT

Question Number : 245 Question Id : 54062615036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries of Asia is landlocked?
Options :

1. ¥ Uzbekistan

2. # Bangladesh

3. # Indonesia

4. ¥ Malaysia

Question Number : 245 Question Id : 54062615036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul &1 FafaRed § @ o I ew Y @ 1 gaeng?

Options :

1. ¢ IsafddE
2. % GG
3. % SSHRMA
4. % oM

Question Number : 246 Question Id : 54062615037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors did NOT provide the necessary impetus to the revival of geopolitics?
Options :

1. # Break-up of the colonial empires

2. # Emergence of large number of nation-states

3. % More complex world before world war

4. ¥ Advancement of political parties

Question Number : 246 Question Id : 54062615037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg SR® 7 YOI & TH:UdcH & (o8 STaRad TT/MIeie e el fadn
Options :

1. % fufafes Yreredi &1 ge

2. % ST YA H APl BT I

3. % fay g YUz iR 31 wifea fay

4. ¢ JSHITAD <l Bt I

Question Number : 247 Question Id : 54062615038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The statement that “Political frontiers tend to establish nationalities” was made by
Options :

1. # Reinhold Niebuhr

2. % H. Kohn

3. % John Stuart Mill

4. % Karl W. Deutsch

Question Number : 247 Question Id : 54062615038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TEIeS ey

2. ¢ Td. Digd

3. % S g3 fia
4. % P &Y, 43

Question Number : 248 Question Id : 54062615039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Smith, which of the following is NOT one of the indicators representing different components of well-being?
Options :

1. # Mental and Physical health

2. % Social order

3. # Re-creation and leisure

4. % Cultural elements

Question Number : 248 Question Id : 54062615039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7Y & SR, Fyafad & ¥ ®F 91 STl & At gew! o1 gfafAfia B are Gdhde! 3 3 T el 82
Options :

1. % GRS U IRIRG Wy

2. % TSI FIRIT

3. ® UHAN dUT HAIDIR

4. & Jikpldeb dd

Question Number : 249 Question Id : 54062615040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements regarding one of the schools of human geography ‘Possibilism’ is/are correct?

I. This theory takes man as an active agent in environment.



II. Vidal de La Blache was a staunch supporter of the philosophy of possibilism.
II1. The concept of possibilism was put forward by Taylor in the 1920s.

Options :

1.9 TandII

2. % Il and III
3. % Only I
4. % I, Il and III

Question Number : 249 Question Id : 54062615040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HE Tiel o foremerdl 9 U dvaare’ & gaH # Fafefed 3 3 & 91/ ou 981 6/8?

1. 78 figid s &1 yaiarur § U Ifhd Tole & g H Ad1 ]
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Options :

1. ¥ 1aYT1I

2. % (1Y

3. % had Il

4. % [ 11 dYT I

Question Number : 250 Question Id : 54062615041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List — I of global strategies with List — II of scholars and select the correct answer from the given options.



List-I List-II
’ Rimland i Halford
Theory Mackinder
b Heartland i Alfred Thayer
Model Mahan
. Sea Power i Nicholas
Concept Spykman
Air Power : AlexanderP. de
d v )
Concept Seversky

Options :

1. ¥ a-iii, b-i, c-ii, d-iv
2. # a-ii, b-iv, c-i, d-iii
3. ® a-i, b-iv, c-ii, d-iii

4. % a-iii, b-i, c-iv, d-ii

Question Number : 250 Question Id : 54062615041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

af¥yes ol @t gt - 1 1 fagl &t g - 1 9 e &% o AT 7Y fasedt o 9 96l SR &1 999 |



- -1
a | fFe=s ReE i |gewrE AfFvsT
HEWHE AT

b |grees AT ii

HHAT ot | |
(T 91eY) 3o TR

Ay orfed | 3T AL &
(TT IET) YO | 9ISt

Options :

1. ¥ a-iii, b-i, c-ii, d-iv
2. % a-ii, b-1v, c-i, d-iii
3. # a-i, b-iv, c-ii, d-iii

4. * a-iii, b-i, c-1v, d-ii

Question Number : 251 Question Id : 54062615042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

If A, B and C are the functions of territoriality where ‘A’ stands for enforcing control over access to the territory, ‘B’ stands for reifying power
and ‘C’ stands for displacing attention from the social relation of dominance, then which of the following strategies of territoriality is/are
correctly defined?

I. Social conflict obscured — A and C
I1. Efficient span of control - A, B and C
II1. Divide and rule — Only B

Options :
1. # Iand II



2. % Only I
3. % Jland lII
4. % I, II and III

Question Number : 251 Question Id : 54062615042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 13U

2. ¥ Had |

3. % [9YTII

4. % [ IIAYTII

Question Number : 252 Question Id : 54062615043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following falls under the category of cumulative atmospheric disaster?
Options :

1. ¥ Heat waves

2. * Earthquakes

3. * Eutrophication

4. % Nuclear war

Question Number : 252 Question Id : 54062615043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ T8 a3

2. % Ybhy

3. % Uy

4. % AN I

Question Number : 253 Question Id : 54062615044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The strongest cyclone in the cyclone history of India known as ‘Super cyclone’ occurred in which state?
Options :

1. % Karnataka

2. ® Gujarat

3. # Andhra Pradesh

4. ¥ QOdisha

Question Number : 253 Question Id : 54062615044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & Tehdld S &1 Yo YfGIRTE Tehard o qUR ArZaal & A1 ST 71 8, forg g H g3 U1
Options :

1. % HAlcd

2. % IRId

3. % Y USH

4. ¢ I

Question Number : 254 Question Id : 54062615045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The consideration of susceptibility of a particular community or group to a particular disaster is



Options :

1. % Regional vulnerability
2. ¥ Social vulnerability

3. % Global vulnerability
4. # Physical vulnerability

Question Number : 254 Question Id : 54062615045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt faRIY Tger a1 wig &1 fheh faRiy o & Ufd HdeRiqai difaar ~ grarg!
Options :

1. % &t SR

2. ¢ AT SRIGTT

3. % dfye SRI&d

4. % AifapeREad

Question Number : 255 Question Id : 54062615046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Elastic rebound theory related to earthquakes was postulated by
Options :

1. # C.G. Bates

2. ¥ H.F. Reid

3. % Charles F. Ritcher

4. % A.J. Henry

Question Number : 255 Question Id : 54062615046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % TSl d9eg

2. ¢ TG, IS
3. % I U, =R
4. % TS gAY

Question Number : 256 Question Id : 54062615047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Indian Meteorological Department (IMD), drought occurs when the mean annual rainfall is of the normal rainfall.
Options :

1. * more than 45 percent

2. % more than 85 percent

3. # less than 50 percent

4. ¥ less than 75 percent

Question Number : 256 Question Id : 54062615047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 45 Yia=rd I 3ffUh

2. % 85 Y= J 3ffUh

3. % 50 UfcRId A HH

4.+ 75 YA 4 HH

Question Number : 257 Question Id : 54062615048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of speed of movement, which hazard is considered to be a slow on-set hazard?
Options :

1. ¥ Drought



2. ®* Lava flow
3. #* Tornado

4. % Tsunami

Question Number : 257 Question Id : 54062615048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfAfafy &t 71fa & SMUR W, frg TR BT efuT SMehAvT (3179-TT) WRT HHT ST 82
Options :

1.« Il

2. % W1d DI YdTg

3. % TSl

4. % GAH

Question Number : 258 Question Id : 54062615049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Mount Pelee eruption on the Martinique Island in the Caribbean sea consuming around 28,000 lives, took place in which year?
Options :

1. % 1940

2. %1902

3. % 1935

4. % 1915

Question Number : 258 Question Id : 54062615049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PRI TE § A g IR ASC Ualt fawpie forg af g AT ford TRTHAT 28,000 AT AR 7Y 49
Options :

1. % 1940

2.9 1902



3. % 1935
4. % 1915

Question Number : 259 Question Id : 54062615050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the characteristics of the eye of cyclone?
Options :

1. # Scarcity of rain

2. % Generally dry

3. % Winds are feeble

4. ¥ Extremely moist

Question Number : 259 Question Id : 54062615050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfeiRed & Q &1 91 Ichard i 3iig & e & 3 T T8l 82
Options :

1. % S Bt HHI

2. % M AR R G gt 8
3. % U i gidi 8

4. ¢ TIPS TH Il &

Question Number : 260 Question Id : 54062615051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the causes of floods?
Options :

1. ¥ Wind shear in the vertical

2. % Large-scale deforestation

3. # Highly sinuous and meandering courses of rivers



4. # Faulty agricultural practices

Question Number : 260 Question Id : 54062615051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 261 Question Id : 54062615052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a small scale map?
Options :

1. # Land parcel map

2. ¥ Atlas map

3. % Topographical map

4. ¥ Settlement map

Question Number : 261 Question Id : 54062615052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o 91 U6 agHH aHRE 82
Options :

1. % Yfly URfet AR

2. ¥ TCad HHH

3. % QATpiddh AHH

4. % St A

Question Number : 262 Question Id : 54062615053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following fields, passive microwave remote sensing is used?
Options :

1. ¥ Oceanography



2. % Agriculture
3. % Mineralogy
4. # Pedology

Question Number : 262 Question Id : 54062615053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed o 2 fog & o, Fifera g1 ot ger Yae o1 IuaT fbar wirdr 82

Question Number : 263 Question Id : 54062615054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A type of bar diagram where columns can besplit into sections to show breakdown of the total value is called
Options :

1. % Comparative bar diagram

2. % Compound bar diagram

3. # Paired bar diagram

4. # Deviation bar diagram

Question Number : 263 Question Id : 54062615054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UHR BT &8 3R, o a1 T & [qUTSH ST a=1iH o oy Wl ! Gs! & fauriord fasar S d&dr g, HEArd gl
Options :

1. % JeIHP G 3R

2. ¢ WY (HUSS) §8 A



3. % gl 48 39
4. % fogaq 48 39

Question Number : 264 Question Id : 54062615055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following techniques specifically uses the numerical data to prepare a thematic map?
Options :

1. # Symbol method

2. % Tint Method

3. * Dot method

4. ¥ Shading method

Question Number : 264 Question Id : 54062615055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rrifes amfm TR S & fore Fafifed 3 3 o I do-ie IRy 9 8 S-e® Sl BT JUINT Il 57
Options :

1. % Ycfip fafey

2. % T fafy

Question Number : 265 Question Id : 54062615056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pushbroom scanning operation was first performed in which of the following satellites?
Options :

1. ¥ BHASKARA-I

2. % SPOT-1

3. % LANDSAT-1



4. # TIROS-1

Question Number : 265 Question Id : 54062615056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T §[H I (35 {T) SRR Fe ugd FHafafed & 9 fovw Iuus o fovan man um
Options :

1. % HRXD-I

2. ¥ Wic-1

3. % digde-1

4. % fe19-1

Question Number : 266 Question Id : 54062615057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cadastral maps are the maps representing
Options :

1. # highly generalized maps of the world
2. # the earth’s surface features

3. % land properties or land parcels or plots

4. ® the cultural landscapes of the earth surface

Question Number : 266 Question Id : 54062615057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FeR@AACE Pl F3Ud A a1 AFRE B
Options :

1. % fay & GiUs RIS d A

2. % Yl Dl Fdg & TGO

3.« Yffy dufy a1 Yy & Te a1 yus

4. % TG} &1 dg & ARPldd TR




Question Number : 267 Question Id : 54062615058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following conditions, the sensor remote is able to detect even smaller objects on one spectrum?
Options :

1. # When the radiometric resolution is higher.

2. % When spectral resolution is recorded in a specified wavelength.

3. % When the spatial resolution is higher

4. % When temporal resolution is same for all the object.

Question Number : 267 Question Id : 54062615058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefea o @ fora Rufy 3 JR e te Weaen R BT axgsit &1 ¥ uar @ & M giar g2
Options :

1. % W9 fafbromrdy fave SwaR gar g

2. % S quiye faue o1 My aiv-aud # siftfefed fovar s g

3. ¢ 9 RIS fa0E ITR BId1 8

4. % 99 Pifciep faned gt fUst & foe g9 g o

Question Number : 268 Question Id : 54062615059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the properties of the conical map projections?
Options :

1. #® The pole is represented as an arc or a point.

2. % All parallels are arcs of concentric circles.

3. ¥ These are not orthomorphic projections.

4. ® Scale is true along the standard parallel(s).

Question Number : 268 Question Id : 54062615059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed # § &9 1 YHTHR AFRE Yauu & o1 § 9 T T8 82
Options :

1. % $d I Ueb 1Y U7 U faig & =0 H ST S B |

2. % it THIR® Abfad gull b AIBId 5 |

3. ¢ T QYIRS ®) Haqur T8l § |

4. % P JHRS(P)) & 1Y Wbd Jal gid1 g |

Question Number : 269 Question Id : 54062615060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Point pollution of river water involves which of the following?
Options :

1. ® Melting snow due to rain

2. % Soil erosion due to deforestation

3. # Discharge of pollutants from agricultural fields

4. ¢ Urban sewage drains

Question Number : 269 Question Id : 54062615060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & U & faig gy & ffafad & 9 oar e grar g?
Options :

1. % quf & PR {Uuel 61 b

2. % G| ] BT b HRUT TaT 3URGH

3. % By &3 § Ugue! o1 Fdes

4.+ &3 Aol Aiferdi

Question Number : 270 Question Id : 54062615061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Maximum ozone density is found between the height of
Options :

1. % 20 km to 25 km

2. % 30 km to 35 km

3. % 12kmto 20 km

4. % 50 km to 65 km

Question Number : 270 Question Id : 54062615061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARFAH M TTd B SR P s AT S gl
Options :

1. ¢ 20 foplt T 25 fopet

2. % 30 frit 9 35 fopri

3. % 12 foorft 20 fooeit

4. % 50 fopmil 9 65 fopHl

Question Number : 271 Question Id : 54062615062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the attribute of sustainability?
Options :

1. # Ecological function

2. # Continuous supply of ecological resources

3. ¥ Maintaining Ecological balance

4. ¥ Meeting favourable ecological demands

Question Number : 271 Question Id : 54062615062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &9 91 Yag-1adT &1 70T 781 82




Options :

1. # giRfufas srf

2. % UIRFYTAS FareH & FRaR smgfd
3. % UIRIRUfcd e ST @1

4. ¢ 3Hd UIRIRYTAS TRT bl RT Rl

Question Number : 272 Question Id : 54062615063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

High concentration of which substance in lake water can cause lung cancer?
Options :

1. ® Fluoride

2. ¥ Asbestos

3. % Sodium

4, % Arsenic

Question Number : 272 Question Id : 54062615063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sita & gl § {5 uerd ot 3= Oigar @ hhs! ol IR gl I&hdl 82
Options :

1. % FIRIZS

2. ¥ TWEEY

3. % gifsay

4. % RSB

Question Number : 273 Question Id : 54062615064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Bhopal Gas Tragedy happened due to the leakage of which gas?
Options :



1. # Styrene

2. # Arsenic pentafluoride
3. ¥ Methyl iso-cynate

4. ¥ Hydrogen sulfide

Question Number : 273 Question Id : 54062615064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIuTer 39 A< Ty 19 & R 9 g8 ot
Options :

1. % s

2. % P UTRIRIS S

3. ¢ I orsE-ATEe

4. % QIS YehIZS

Question Number : 274 Question Id : 54062615065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method can be effectively used to handle particular matter smaller than one micrometre?
Options :

1. % Combustion modification

2. ¥ Electrostatic Precipitator

3. # Bag filter

4. % Wet Scrubbers

Question Number : 274 Question Id : 54062615065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ATsH IR I Bie ARy uerd & Iurem & fore {5 fafer o1 uvret & @ Iuan far o goar g2
Options :

1. % g9 AMuRadT




Question Number : 275 Question Id : 54062615066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
El-Nino Southern Oscillation is associated with
Options :

1. # continuous precipitation

2. ¥ rise in normal sea temperature

3. % decrease in amount of salinity

4. ¥ cold water currents

Question Number : 275 Question Id : 54062615066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
adefeofidas IuEfids
Options :

1. % FRA@R auur

2. ¢ UG & FHHY A9EH § gfg

3. % qUdl D GETH Bl

4. % 33 UM BT URTSA

Question Number : 276 Question Id : 54062615067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following evidences does NOT support the theory of gradual rise in global warming?
Options :

1. # Thawing of permafrost areas

2. % Rise in sea level



3. % Melting of continental glaciers

4. ¥ Stationary pattern of rainfall

Question Number : 276 Question Id : 54062615067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & @ &5 a1y et drusH gfe (eltad arftfm & s e gie & Rigia o gada T srarg?
Options :

1. % GHITAIC &N o favTer

2. % g b TR U g

3. % HgTgIUyg fRA-al o1 fager

4.« a9 &1 RR Ue

Question Number : 277 Question Id : 54062615068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT considered to be a particulate air pollutant?
Options :

1. % Aerosols

2. ¥ Glycerol

3. % Pollen grains

4. % Soots

Question Number : 277 Question Id : 54062615068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad & I {68 U o501 arg UGy el AT ST 62
Options :

1. % TR

2. ¢ FeRId

3. % IRTHPU




4. % gd

Question Number : 278 Question Id : 54062615069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the threat value number for the moderately threatened species of a plant?
Options :

1. % 15-20

2.9 6-10

3. % 0-5

4. % 10-15

Question Number : 278 Question Id : 54062615069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot TIe) &) I U J b Ud USTiad & forT TarT (3T) A SHT T 8l 82
Options :

1. % 15-20

2.9 6-10

3. % 0-5

4. % 10-15

Question Number : 279 Question Id : 54062615070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List — I of international cooperation with List — II of their signing year and select the correct answer from the given options.



List-I List-IT

a | Montreal Protocol i | 2004

United Nations First

” o

b Earth Summit | 4057

. First W.'orld Climate i | 1970
Summit

Tenth Conference of | .
d i 711992
parties (CoP-10) o

Options :

1. % a-i, b-ii, c-iii, d-iv
2. % a-ii, b-iv, c-iii, d-i
3. ® a-i, b-iii, c-ii, d-iv

4. % a-iii, b-i, c-iv, d-ii

Question Number : 279 Question Id : 54062615070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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-1 -1
a | Allegdel GelhlaT | i | 2004

TYFT T TIH |
b i1 | 1987
gl HEASA

c PRI 1 iii | 1979
AT

gifeat &1 gmar
d | gERES (FThF) | iv| 1992
(Hr3<r-10)

Options :

1. % a-i, b-ii, c-iii, d-iv
2. % a-ii, b-iv, c-iii, d-i
3. % a-i, b-iii, c-ii, d-iv

4. ® a-iii, b-i, c-iv, d-ii

Question Number : 280 Question Id : 54062615071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are correct regarding poverty in India?

I. Fast population growth is identified as one of the causes of poverty.
II. The government of India started Public Distribution System (PDS) to ensure food security to people.
III. Integrated Rural Development Programme (IRDP) was adopted in 2001 to eradicate poverty.

Options :
l.¥ Tand II



2. % Il and 1L
3. # Only 1II
4. % LII and III

Question Number : 280 Question Id : 54062615071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR § TR & g 7 Fafifad § 9 o1 91 oy 98 /82

1. < SeReT gfe &1 TR & SR E J Th & © 0 § UgaH=1 odl g |
1. YR TRBR = AN ! W1 YRET AT HRA o ot Frdeidh faaRor gormed! (feie) & o
11 TRIS B ST B o o8 2001 T THIpd UTHITT BT HRIGHH (TSRS DI SO T |

Options :
1.« 1dUT Il
2. % I dYT I
3. % ohad III
4. % 1 11dYUTIII
Teaching Methodology
Group Number : 15
Group Id : 540626518
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Teaching Methodology



Section Id : 540626692

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626830
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 54062615072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Statements like ‘he is solving the problem like a expert’, ‘She is singing very well like Lata Mangeshkar’ represents which of the following way
that is used to strengthen the imitations performed by a child?

Options :

1. # Vicarious reinforcement

2. # Satisfying consequences

3. % Providing direct praise or incentives
4. # Readiness

Question Number : 281 Question Id : 54062615072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 Ueh ARV P IR THT ) 5 DR 5T &', '8 A HIRBR Bl dig dgd 33T M a! & Wi Hy Fafafad & 3 g a&ie &l <fa
%WW@WWWWWaﬁwﬁ%mmw%

Options :

1. ® gfaffera gHaed

2. % gAY SH® gRomH

3. « U& TR T 91 UGH Bl




4, % qdRdl

Question Number : 282 Question Id : 54062615073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How can you as a teacher encourage discovery learning in the classroom?

I. Your basic mode of interaction with the students should be questioning, using both convergent or divergent questions.
II. You should encourage ‘student — student’ interaction more than the ‘student — teacher’ interaction.

Options :

1. % OnlyI

2. % Only I

3. % Both I and I
4. ¥ Neither I nor II

Question Number : 282 Question Id : 54062615073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 18/ & U H 319 Hef T WioTgui SHTITH B Sy Uidiied B 9bd 82

1. B &b 1Y IRER fohaT A &1 YD1 T dRieh] STUIRT T YR Gl GbR &b Ul b1 ST HRd §U UY Y&+ 811 IMig T
1L 3T BTH-RI&e IR a1 ¥ el SH-8F IRER [ohd1 &1 UidTied &3l aey|

Options :

1. % Had 1

2. % HAd I

3. [ QYT ISl
4. % I IATBII

Question Number : 283 Question Id : 54062615074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mayanti is studying in class 4. She is able to follow the lessons in the class. But when teacher ask her questions in oral exam, then she is unable
to answer. In this situation, by which way a teacher can assess her learning?



Options :

1. # Compensation
2. # Omission

3. % Modification
4. # Substitution

Question Number : 283 Question Id : 54062615074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T el 4 H UG I8 81 I8 BT P UTS1 BT UTeH B H Terd | Afp ofe AR tie & it Suq vy yodi 8, d dg STR -8l &
oTelt B 1 U fRufa o e FifererT Suds SifenTH &1 3ehra fohd U R &R bl 82

Options :

1. % gffayfd

2. % Ble ol
3. ¢ URaaH

4. % YirRyToA

Question Number : 284 Question Id : 54062615075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following children are at risk for exclusion from education system?

I. Children with disabilities
I1. Children from deprived environments
1. Girl Child

Options :

1. # Tand II

2. # Il and III
3. % Tand III

4. % 1, 1I and III

Question Number : 284 Question Id : 54062615075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Frofafed # 9 oH 4 o= Rian yomeh 3 sfewpd g1 & Sifen # 82

IRCENINCE]

1. dfard aTdTaRoT ¥ 3 5=
111 STfefhTd

Options :

1. % 19U 11

2. % [ dUTIII

3. % 1 AU

4. 111 dYT I

Question Number : 285 Question Id : 54062615076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following considered Personality in the terms of Introversion and Extroversion?
Options :

1. ¥ Carl Jung

2. % Alfred Adler

3. # Sigmund Freud

4. ¥ H.J. Eysenck

Question Number : 285 Question Id : 54062615076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 ferem siade aur sfedd & v & ufadd & AT 82
Options :

1. ¢ PTdl ST

2. % 3[IhS TSR

3. % Rys wias

4. % T, 3MYD




Question Number : 286 Question Id : 54062615077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not correct about collage making?
Options :

1. #® Group working can be enhanced

2. ¥ The creative skills in children diminishes by such activities

3. % It helps to develop fine motor skills of children by tearing and pasting

4. ® Tt develops interest in those children who cannot draw efficiently and gets discouraged

Question Number : 286 Question Id : 54062615077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS (a0 & TR & afoRad & 3 & 91 &y 951 T8l 62

Options :

1. ® IHEP BT B3 B! IgIa1 f&a1 ST Tohdl §

2. « Yt fafafaa @ a=af § TWHTHS DI HH 81 Sl &

3. % Ug g gRI Pl adl e & Hiend q TATHS HINd ol f[abRid B34 H Aee Hdl g

4. % Tg 39 g § 3 A RId o3l 8 S HTet 70 T ISR 781 B Ibd 9uT gaidned gl oid &

Question Number : 287 Question Id : 54062615078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Theatre/Drama performances are based upon which of the following?

I. Eradication of social events
II. Stories of famous personalities

Options :

1. % Only I

2. % Only II

3. # Both I and II



4. % Neither I nor 11

Question Number : 287 Question Id : 54062615078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rigex/ATes yeeH Fufefed & 9 fea i enuida 81d 2782

1. QTSI TSI &1 I
11. WRTg gl ot werai
Options :

1. % Had 1

2. ¢ HAd Il

3. % [ QYT M

4. % qIGIIATR I

Question Number : 288 Question Id : 54062615079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the followings statement(s) is/are the characteristics of a good indicator of evaluation?

L. It provides useful information to the teachers.
II. It helps to compare its value to a standard itself.
II1. It helps to identify problematic situations.

Options :

1. * Tand II

2. % Il and III
3. [, Il and III
4. % Only II

Question Number : 288 Question Id : 54062615079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. I8 e &1 T TSR] UgH HRdl 8|
I1. I8 310 Hed & gl U AF® o &3 H Ae Il |
[11. 98 TR fUfd! o1 uga™ &1 § Heg sl gl

Options :

1. % IdUT 11

2. % 11 dYTIII
3.9 1 I dYUTIII

4. % Ppad I

Question Number : 289 Question Id : 54062615080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Methods of language — teaching have been influenced by a variety of extant social, political and psychological factors. Among those factors
which of the following is/are prominent?

I. Needs of society at a particular point of time.
II. An understanding of what language is.
II1. Understanding of how children learn.

Options :

1. * Tand III

2. % Il and III
3. % Only I

4. 1,11 and III

Question Number : 289 Question Id : 54062615080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gmﬁgrg%aﬁ%ﬁfuaw%ﬁww%,wﬁ%aw%aﬁﬁwﬁa@% SRS | gfafed 3 9 sH
T /2
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Options :

1. % 1 dYUTIII
2. % TIdUTII
3. % Had |

4. 1, 11 dYUTIII

Question Number : 290 Question Id : 54062615081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
and are mutually dependent skills wherein the processes of and are interwined.

Options :

1. ¥ listening; speaking; thinking; understanding
2. % speaking; playing; thinking; understanding
3. # thinking; understanding; speaking; listening
4. ® listening, playing, thinking, understanding

Question Number : 290 Question Id : 54062615081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TRER ST HIRT g Fored T &1 UfehaTy 3oy H 742t g5 g |
Options :
1. ¢ G, ST faaR; 9
2. % FIaHn Wl faaR; A
3. % f9OR; T ST g1
4. % G, W, faeR; wwe

Question Number : 291 Question Id : 54062615082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following question(s) arises in the mind of a teacher just before commencing the theme for early childhood and care education
programme?



I. Have I arranged the activity areas?
II. Is all my teaching learning material ready for this theme?
II1. How will I observe and assess my children?

Options :

1. % 1, 1T and III
2. % Iland IIT
3. % Only I

4. % JTand II

Question Number : 291 Question Id : 54062615082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. L ITdUT I
2. % 11 dYTIII
3. % Had |

4. % TdYTII

Question Number : 292 Question Id : 54062615083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the sensory and perceptual development in the children till the age of 3 years?

I. Development of the five senses through visual, auditory, olfactory and kinaesthetic experiences.
II. Learning to control and coordinate their reflexes.

Options :
1. ®* Only I
2. % Only II



3.4 BothIand II
4. % Neither [ nor II

Question Number : 292 Question Id : 54062615083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. ¢ 1 qUT I A
4. % qIGIIATR I

Question Number : 293 Question Id : 54062615084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If we prove that ‘sum of two even numbers is an even number’ by using known results, definitions and rules of inference, then which kind of
logic we are using here?

I. Inductive Logic
II. Deductive Logic

Options :

1. % Only I

2.9 Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 293 Question Id : 54062615084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHad 1

2. ¢ Had 11

3. % [T gl
4. % 1B

Question Number : 294 Question Id : 54062615085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While writing poems the length of lines used in the poem is also carefully chosen to maintain the poetic rhythm, feeling. This statement shows
the relation of mathematics with which of the following?

Options :

1. # Science
2. ¥ Literature
3. # History

4. % Economics

Question Number : 294 Question Id : 54062615085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fa3H
2. ¢ TIfgd
3. % gfder™
4. % JURIRA




Question Number : 295 Question Id : 54062615086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the approach(es) to reading in a foreign language?

I. Phonics
II. Look and Say

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 295 Question Id : 54062615086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had I

3. ¢ 1 AUTIL AT
4. % AIGIIATRIII

Question Number : 296 Question Id : 54062615087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Using learners experiences’ is one of the features of Learner Centered Social Science Class. Which of the following statement(s) describes this
feature?



I. When you teach on processes involved in Agriculture, then you can ask students, who have seen those processes, to describe them.
II. When you talk about freedom fighters of India, then you may ask students to find out about the freedom fighters of their state/region.

Options :

1. ¥ Only I

2. % Only II

3. % Both IandII
4. # Neither I nor II

Question Number : 296 Question Id : 54062615087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had |

2. % Had Il

3. % [ UGl

4. % ATEIIATSII

Question Number : 297 Question Id : 54062615088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If we talk about critical pedagogy in social sciences, then which of the following question(s) you as a teacher can ask in your class?

I. How will the earth be if there are no forests at all?
II. Is there any way to fulfill the needs of growing population without deforestation?

Options :
1. % Only I
2. % Only I



3.4 BothIand II
4. % Neither [ nor II

Question Number : 297 Question Id : 54062615088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had Il

3. ¢ 1 AUTII Gl

4, % AIGIATSII

Question Number : 298 Question Id : 54062615089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Jupiter is the largest planet in the solar system.” This statement is a

I. natural law
II. fact

Options :

1. % Only I

2.% Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 298 Question Id : 54062615089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl

2. ¥ Had Il

3. % [ QU Gl
4. % GBI

Question Number : 299 Question Id : 54062615090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following activity(es) encourage children to talk to parents, elders and community members to find out and collect information?

I. Asking from elders that what games did they play when they were children.
II. Asking your grandparents that when they were 8/9 years old, then where did they live.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 299 Question Id : 54062615090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BHad




2. % Had Il
3. 13U 11 Sl
4. % BB

Question Number : 300 Question Id : 54062615091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Games like kho-kho, kabaddi need awareness and utilization of space.” This statement shows the role of in real life situation.
Options :

1. % geography

2. # science

3. ® english

4. ¥ mathematics

Question Number : 300 Question Id : 54062615091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % md
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3. % 3l

4.« 0




